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‘hmamḯ> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUrgmR>r Cn¶w³V àíZg§J«h

‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 1

For Private Circulation Only

Study Circle Career Development Institute



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 2

For Private Circulation Only

 ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2023

(1) ^maVmMm d _hmamḯ>mMm ŷJmoc KQ>H$mdarb àíZ
1) ghm¶H$  amgm¶{ZH$ {díbofH$ MmiUr narjm, 19 OmZodmar 2023
2) X§V eë¶{M{H$ËgH$ MmiUr narjm, 2023
3) ‘w»¶ àemgH$s¶ A{YH$mar MmiUr narjm 2023
4) ghm¶H$ ‘Ëñ¶ Am¶wº$ MmiUr narjm 2023
5) amÁ¶godm ‘w»¶narjm  nong© 1 Vo 4, 2023
6) ‘hmamï´> JQ> H$ ‘w»¶ narjm nona 1, 2003
7) ’$m‘m©{gñQ>, d¡ÚH$s¶ ‘h{dÚmb¶o MmiUr narjm 2023
8) gm§p»¶H$s A{YH$mar, gmd©O{ZH$ Amamo½¶ MmiUr narjm 2023
9) H$m¶Xm A{YH$mar, ZJa{Z¶moOZ MmiUr narjm 2013
10) ghm¶H$ g§MmbH$,ZJa{Z¶moOZ MmiUr narjm 2023
11) ghm¶H$ H$m¶Xoera g„mJma/Aìda g{Md,  ZJa{Z¶moOZ MmiUr narjm , 2013
12) ZJa{Z¶moOZ A{YH$mar MmiUr narjm 2023
13) {b{nH$ Q>§H$boIH$ (‘w»¶) narjm, 12 ’o$~«wdmar 2023
14) Xþæ¶‘ {ZarjH$ amÁ¶ CËnmXZ ewëH$ (‘w»¶) narjm  2023
15) H$a ghm¶H$ (‘w»¶ narjm) 4 ‘mM© 2023
16) CÚmoJ {ZarjH$, JQ> H$ (_w»`) narjm, 11 ‘mM© 2023

17) ghm¶H$ Am¶wº $(Am¡fYo ) MmiUr narjm, 17 ‘mM© 2023
18) ghmæ`H$ ({dYr) MmiUr  narjm, 17 ‘mM© 2023
19) H${Zð> ̂ yd¡km{ZH$  MmiUr narjm, 17 ‘mM© 2023
20) H$m¶©H$mar A{^¶§Vm ({dÚwV) MmiUr narjm, 20 ‘mM© 2023
21) CnA{^¶§Vm ({dÚwV-¶m§{ÌH$s) MmiUr narjm, 20 ‘mM© 2023
22) ‘hmamï´> dZgodm ‘w»¶ narjm, 16 E{àb 2023
23) ‘hmamï´> AamOn{ÌV JQ> ~ d H$ godm, g§¶wº$ nyd©narjm, 30 E{àb 2023
24) ‘hmamï´> A{^¶m§{ÌH$s ({gpìhb) ‘w»¶ narjm, 23 E{àb 2023
25) Cng§MmbH$ Amamo½¶godm MmiUr narjm, 12 ‘o 2023
26) ‘hmamï´> A{^¶m§{ÌH$s ({dÚwV) ‘w»¶ narjm, 13 ‘o 2023
27) ‘hmamï´> H¥$frgodm ‘w»¶ narjm, 13 ‘o 2023
28) Cng§MmbH$ Am¡Úmo{JH$ gwajm MmiUr narjm, 16 ‘o 2023
29) ‘hmamï´> amOn{ÌV ZmJar godm g§¶wº$ nyd©narjm, 4 OyZ 2023
30) d¡ÚH$s¶ A{YH$mar MmiUr narjm, 8 Owb¡ 2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(1) ^maVmMm d _hmamḯ>mMm ŷJmoc  KQ>H$mdarb àíZ
1) _hmamï´>mMm d ^maVmMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²> ò
2) {d{dY ŷéno, nd©V Am{U nR>ma - Q>oH$S>çm, am§Jm, {eIao, KmQ>
3) _w»` àmH¥${VH$ {d^mJ - {h‘mb¶, ‘¡XmZo, {H$ZmanÅ>r, nR>ma, gømÐr, H$moH$U, ~oQ>o
4) hdm‘mZemó, nO©Ý`‘mZ d Vmn‘mZ
5) nO©Ý`mVrc {d^mJdma ~Xc
6) ZÚm - YaUo Am{U qgMZ àH$ën
7) Z¡g{J©H$ g§nÎmr d eoVr - dZo, O{‘ZrMo àH$ma, à‘wI {nHo$
8) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z, CÚmoJ, ehao
9) amOH$s` {d^mJ, àemgH$s` {d^mJ - ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
10) _mZdr d gm_m{OH$ ŷJmoc - cmoH$g§»`m, bmoH$g§»¶oMo ñWmZm§Va d Ë¶mMo CJ‘ d Bï>ñWmZmdarb n[aUm_, J«m_rU

dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)  2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d  dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~w{Õ‘mnZ MmMUr
1) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
2) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM  ‘hmamï´>mgh ̂ maVmVrc /10
3) A§H$J{UV Am{U gm§p»¶H$s /10
4) A) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005  /5

~) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
5) ^maVr¶ g§KamÁ¶ ì¶dñWm,  amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm,  H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i/15
6) A) ̂ maVmMm d  _hmamï´>mMm ̂ yJmoc  /10

 ~) n¶m©daU /5
7) gm‘mÝ¶ {dkmZ  d V§ÌkmZ /15 -

A) ̂ m¡{VH$emó ({’${O³g) /2
~) agm¶Zemó (Ho${‘ñQ´>r) /2
H$)  àmUremó (Pycm°Or) /2
S>) dZñn{Vemó (~m°Q>Zr) /2
B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ /2
’$) ‘m{hVr d g§àofU V§ÌkmZ /5

8) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr /15
1) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó /6
2) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr /9



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 5

For Private Circulation Only



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 6

For Private Circulation Only



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 7

For Private Circulation Only

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)  2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or  g{dñVa Aä¶mgH«$‘

1) ‘amR>r (50)

(1) gd©gm_mÝ` eãXg§J«h /15
1) g_mZmWu eãX-{déÕmWu eãX
2) eãXmW©-g§km§Mo AW©
3) eãXg_yhm~Ôc EH$ eãX
4) eãXì¶wËnÎmr - VËg_ / VX²̂ d
5) Xoer / ^maVr¶ / na^mfoVrc eãX
6) eãX{gÕr - {gÕ eãX / YmVy
7) CngJ©K{Q>V eãX
8) àË¶¶gm{YV eãX - H¥$X§V - YmVy gm{YV / V{ÕV - eãX gm{YV
9) Aä`ñV eãX - nyUm©ä¶ñV / A§emä¶ñV / AZwH$aU dmMH$
10) Ac§H$m[aH / gm_m{gH$ / J«m_rU d ZmJar eãX
11) eãXmW© Z OwiUmam eãX, n`m©̀ r eãX / n`m©̀ r Zgcocm eãX
12) {d{dYAWu EH$ eãX
13) g§X ©̂ eãX [aH$må`m OmJr {ZdS>Uo
14) eãXm§Mo ewÕcoIZ - eãXmMm àH$ma, OmoS>eãX
15) {bnr, eãXeº$s/eãXm§Mo H$mì`JwU

(2) dmŠ`aMZm/13
1) dmŠ`mMo n¥W¸$aU -CÔoe d CÔoe{dñVma, {dYò  d {dYò {dñVma
2) dm³¶ g§ícofU d dmŠ`{Z{_©Vr
3) dmŠ`mVrc H$Vm© d H$‘©
4) H$V©ar à`moJ, H$_©Ur à`moJ
5) ^mdo à`moJ, ZdrZ àH$ma

* dm³¶aMZoZwgma àH$ma d ê$nm§Va
6) Ho$dcdm³¶, ‘w»¶ Am{U Jm¡U dm³¶o
7) g§¶wº$dm³¶ d dm³¶ ê$nm§Va
8) {‘ldm³¶ d dm³¶ ê$nm§Va

* AWm©dê$Z àH$ma d dmŠ` ê$nm§Va
9) hmoH$mamWu, ZH$mamWu  d dm³¶ ê$nm§Va
10) àíZmW©H$  d dm³¶ ê$nm§Va
11) CX²JmadmMH$, AmkmWu d dm³¶ ê$nm§Va
12) dm³¶mVrb H$mi Am{U Am»¶mV
13) `mo½` {dam_{MÝhm§Mm dmna
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(3) ì`mH$aU/12
1) dUm©jao d eãXm§À`m OmVr

1) dUm©ja d ‘ycÜdZr
2) ñda
3) ì¶§OZ
4)AZwZm{gHo$
5) dU©aMZm
6) OmoS>mja
7) eãXm§À`m OmVr

2) Zm_ d Zm_mMo àH$ma
3) gd©Zm_
4) {deofU
5) {H«$`mnXm§Mo àH$ma, ê$n d YmVwgm{YVo
6) {H«$¶m{deofU d eãX¶moJr Aì``
7) C^¶mÝd¶r d Ho$dbà¶moJr Aì``
8) gm_mÝ`ê$n d {d^º$s
9) qcJ d  dMZ
10) g§Yr d g_mg
11) Ac§H$ma, d¥Îmo, nÚaMZm - H$mì`/Amoì`m
12) dmL²>_`rZ B{Vhmg d ^m{fH$ gm_mÝ`kmZ

(4) åhUr d  dmH²$àMma (AW© d Cn`moJ)/5
41) åhUrMm `mo½` AW©
42) dmH²$àMmamMm `mo½` AW©
43) `mo½` AWm©Mr åhU/n`m©̀ r åhU {ZdS>Uo
44) n`m©̀ r dmH²$àMma
45) åhUrMm/dmH²$àMmamMm dm³¶mV Cn¶moJ

(5) CVmè`mdarc àíZmoÎmao/5
46) CVmam H«$.1 àíZ H«$.1
47) CVmam H«$.1 àíZ H«$.2
48) CVmam H«$.1 àíZ H«$.3
49) CVmam H«$.1 àíZ H«$.4
50) CVmam H«$.1 àíZ H«$.5
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(2) B§J«Or /50

(6) CommonVocabualry /10

51) Synonyms / Homonym

52) Antonyms

53) One Word substitution

54) Meaning  / Wrong meaning  of words, underlined words

55) Correct spelling

56) Names for groups/collection

57) Use of correct word

58) Word formation /Construction / building

59) Confusing words & Full form

60) Fill in the blanks

(7) SentenceStructure /20
61) Types of sentences  - structure

62) Types of sentences  - meaning

63) Types of clauses

64) Question tags and Interrogative sentences

65) Grammatically Correct sentence

66) Grammatical error part

67) Punctuation

68) Direct - Indirect Speech

69) Active & Passive Voice

70) Degrees

71) Transformation

72) Completion of clauses

73) Meaning of sentence

74) Sentence completion

75) Sentence construction

76) Types of sentences  - structure/meaning

77) Types of clauses

78) Grammatically Correct /error part/Punctuation

79) Direct - Indirect Speech

80) Active & Passive Voice
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(8) Grammar /10
81) Types and  use of Noun, Pronouns

82) Types and  use of correct Adjectives

83) Types and  use of  Verbs, Modals

84) Types of  Tenses

85) Use of correct Adverb

86) Use of correct Preposition

87) Use of correct Conjunction and Interjection

88) Use of Articles

89) Singular & Plural, Gender

90) Figure of  Speech

(9) Use of Idioms and Phrases / 5
91) Correct  meaning of a phrase

92) Correct  meaning of an idiom

93) Correct  use  of  phrase

94) Correct  use of an idiom

95) Gerundial  phrase, Substitution of  phrase / idiom

(10) Comprehension / 5
96) Passage no.2, Q.no.1

97) Passage no.2, Q.no.2

98) Passage no.2, Q.no.3

99) Passage no.2, Q.no.4

100) Passage no.2, Q.no.5
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr g{dñVa Aä¶mgH«$‘
1) ^maVmMm d  _hmamï´>mMm ̂ yJmoc  /10
2) n¶m©daU /5
3) gm‘mÝ¶ {dkmZ  d V§ÌkmZ /15

A) ^m¡{VH$emó ({’${O³g)
~) agm¶Zemó (Ho${‘ñQ´>r)
H$) àmUremó (Pycm°Or)
S>) dZñn{Vemó (~m°Q>Zr)
B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ
’$) ‘m{hVr d g§àofU V§ÌkmZ

4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr /15
A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó
~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr

5) ^maVr¶ g§KamÁ¶ ì¶dñWm, amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm,  H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i/15
6) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005  /5
7) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
8) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM  ‘hmamï´>mgh ̂ maVmVrc /10
9) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
10) A§H$J{UV Am{U gm§p»¶H$s /10

(1) ^maVmMm d _hmamḯ>mMm ŷJmoc /10
1) _hmamï´>mMm d ^maVmMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²> ò
2) {d{dY ŷéno, nd©V Am{U nR>ma - Q>oH$S>çm, am§Jm, {eIao, KmQ>
3) _w»` àmH¥${VH$ {d^mJ - {h‘mb¶, ‘¡XmZo, {H$ZmanÅ>r, nR>ma, gømÐr, H$moH$U, ~oQ>o
4) hdm‘mZemó, nO©Ý`‘mZ d Vmn‘mZ
5) nO©Ý`mVrc {d^mJdma ~Xc
6) ZÚm - YaUo  Am{U qgMZ àH$ën
7) Z¡g{J©H$ g§nÎmr - dZo, eoVr - O{‘ZrMo àH$ma, à‘wI {nHo$
8) I{ZOo Am{U D$Om© g§gmYZo, Am{W©H$ ŷJmob - dmhVyH$ Am{U n ©̀Q>Z, CÚmoJ, ehao
9) amOH$s` {d^mJ, àemgH$s` {d^mJ - ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
10) _mZdr d gm_m{OH$ ŷJmoc - cmoH$g§»`m, bmoH$g§»¶oMo ñWmZm§Va d Ë¶mMo CJ‘ d Bï>ñWmZmdarb n[aUm_, J«m_rU

dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ

(2) n¶m©daU /5
11) ‘mZd {dH$mg d n¶m©daU, n¶m©daUnyaH$ {dH$mg, n[apñW{VH$s
12) Z¡g{J©H$ gmYZg§nÎmrMo {deofV: dZg§nÎmrMo g§YmaU
13) {d{dY àH$maMr àXÿfUo d n¶m©daUr¶ AmnÎmr
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14) ½bmo~b dm°{‘ªJ d h[aV dm¶y
15) n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amï´>/ OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

(3) gm‘mÝ¶ {dkmZ  d V§ÌkmZ /15
A) ̂ m¡{VH$emó ({’${O³g) /2

16) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
17) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

~) agm¶Zemó (Ho${‘ñQ´>r) /2
18) AmdV©gmaUr - YmVy, AYmVy, jma, Amåb, g§̀ wJo, dm ỳ, IVo
19) amgm`{ZH$ A{^{H«$`m, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ

H$)  àmUremó (Pycm°Or) /2
20) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
21) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

S>) dZñn{Vemó (~m°Q>Zr) /2
22) dZñnVtMo dJuH$aU Am{U CXmhaUo
23) H¥$fr{dkmZ d dZemó, Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ /2
24) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU
25) ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ

’$) ‘m{hVr d g§àofU V§ÌkmZ /5
26) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
27) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
28) gm¶~a JwÝho d Ë¶mg à{V~§Y
29) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
30) ‘m{hVr V§ÌkmZ CÚmoJ - ^maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>

(4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr/15
A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó -

31) g‘J«bjr AW©emó, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
32) gmd©O{ZH$ {dÎm - Am{W©H$ d {dÎmr` YmoaU, boImnarjU
33) Am§Vaamï´>r` ì`mnma Am{U Am§Vaamï´>r` ^m§S>db
34) d¥Õr Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
35) J[a~r/ ~oH$mar - H$maUo, ñdén, àH$ma, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘, amoOJma {Z{‘©Vr H$m ©̀H«$‘
36) {dH$mg H$m ©̀H«$‘ - gm‘m{OH$ gwajm, {ejU, Amamo½`,  ‘{hbm, ‘wbo, Á òð> ZmJ[aH, d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm

~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr -
37) ^maVr¶ AW©ì¶dñWm, ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm
38) ^maVr¶ eoVr d J«m‘rU {dH$mg - CËnmXH$Vm, gwYmaUm, {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
39) ghH$ma - µH¥$fr {dÎm nwadR>m, {dnUZ, qH$‘Vr
40) ‘m¡{ÐH$ d {dÎmr¶ joÌ - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
41) gmd©O{ZH$ {dÎm d {dÎmr¶ g§ñWm -  ‘hgyb, AW©g§H$ën, gmd©O{ZH$ IM©
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42) CÚmoJ d godm joÌ
43) nm`m ŷV gw{dYm {dH$mg
44) ^maVmMm {dXoer ì¶mnma - AmH$ma‘mZ, {Xem Am{U aMZm
45) ‘hmamï´>mMr AW©ì¶dñWm

(5) ^maVr` amÁ`ì¶dñWm/15
* ^maVr¶ g§KamÁ¶ ì¶dñWm, ̂ maVr¶ amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm,  H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i-

A) ̂ maVr¶ amÁ¶KQ>Zm -
46) KQ>Zm H$er V¶ma Pmbr - g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho
47) KQ>ZoÀ`m àñVmdZo_mJMr ŷ{_H$m d VÎdo, {ZY_u amÁ`, R>iH$ d¡{eîQ>ço
48) g§{dYmZmVrb ‘hÎdmMr H$c_o - n[a{eîQ>o, KQ>ZmXþéñVr
49) ‘yc ŷV h¸$ d H$V©ì ò
50) amÁ¶YmoaUmMr _mJ©Xe©H$ VÎdo - {ejU, ẁ{Z\$m°_© {gìhrc H$moS>
51) g§{dYmZmË‘H$ Am`moJ Am{U ‘§S>io

~) ^maVr¶ g§KamÁ¶ ì¶dñWm -
52) H|$Ð d amÁ` g§~§Y - ZdrZ amÁ ò

H$) H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i  -
53) ñdV§Ì Ý`m`nm{cH$m
54) amÁ¶nmc, ‘w»¶‘§Ìr d ‘§{Ì‘§S>i - ŷ{‘H$m, A{YH$ma d H$m¶©
55) amÁ¶ {dYr‘§S>i - {dYmZg^m, {dYmZn[afX d Ë¶m§Mo gXñ¶, A{YH$ma, H$m¶© d ŷ{‘H$m, {dYr g{‘Ë¶m
56) H|$Ðr¶ {dYr‘§S>i - bmoH$g^m d amÁ¶g^m
57) H|$Ðr¶ H$m¶©H$mar ‘§S>i - amï´>nVr,  Cnamï´>nVr d n§VàYmZ

S>) ñWm{ZH$ ñdamÁ¶ ì¶dñWm -
58) n§Mm¶V amOMr CËH«$m§Vr - H$m¶Xo, g{‘Ë¶m, KQ>ZmXþéñVr
59) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX - aMZm d H$m¶}
60) {Oëhm d ZmJar àemgZ - aMZm d H$m¶}

(6) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
61) ‘m{hVr A{YH$ma H$m¶ÚmMr CËËH«$m§Vr, gwYmaUm d BVa ~m~r
62) ‘m{hVr A{YH$ma H$m¶ÚmVrb ‘hÎdmMr H$b‘o
63) ‘m{hVr A{YH$ma H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
64) ‘m{hVr A{YH$ma H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
65) ‘m{hVr A{YH$ma H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(7) ‘hmamîQ́> bmoH$godm h¸$, 2015/5
66) bmoH$godm h¸$ H$m¶ÚmMr CËËH«$m§Vr, gwYmaUm d BVa ~m~r
67) bmoH$godm h¸$ H$m¶ÚmVrb ‘hÎdmMr H$b‘o
68) bmoH$godm h¸$ H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
69) bmoH$godm h¸$ H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
70) bmoH$godm h¸$ H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb
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(8) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM  ‘hmamḯ>mgh ^maVmVrc /10
71) OmJ{VH$ amOH$s¶ KQ>Zm - g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm
72) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo
73) Am{W©H$ d {dÎmr¶ KQ>Zm  - {dXoer ì¶mnma, AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, Xm[aX²Œ¶ d ~oH$mar
74) d¡km{ZH$ KQ>Zm - AmpÊdH$ àH$ën,Am¶grQ>r, AdH$me{dkmZ, d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $
75) gm‘m{OH$  d e¡j{UH$ KQ>Zm -gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm
76) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio,  amOH$s¶ ̂ yJmob, n¶m©daU n[afXm, H$m¶Xo, AmnÎmrì¶dñWmnZ
77) gm§ñH¥${VH$ d gm{hpË¶H  KQ>Zm  - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$, nwñVHo$ d boIH$, gm{hË` g§_ocZ
78) H«$sS>m{df¶H$ KQ>Zm  d gm‘mÝ¶kmZ - H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, ‘hÎdmMo {Xdg, gd©àW‘, gdm©V ‘moR>o/N>moQ>o
79) Zo‘UwH$m, {Z¶wº$s  d àH$mePmoVmVrb ì¶º$s
80) nm[aVmo{fH$, nwañH$ma  d ~hþ‘mZ

(9) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
81) {dYmZo Am{U ẁ{º$dmX, J¥{hVHo$, {ZîH$f©
82) n[aÀN>oXm§déZ {ZîH$f©, n[apñWVr Am{U à{VgmX, {dYmZ Am{U H¥$VrMm ‘mJ©
83) {ZU©̀  KoUo, g‘ñ`m gmoS>dUo, à{VnmXZ-H$maU, Hy$Q> ‘m{hVrdarb àíZ
84) S>oQ>m g{’${gEÝgr, {dYmZmÀ`m gË`VoMr nS>VmiUr
85) ZmVog§~§Y, {díbofU
86) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr
87) J{UVr` VH©$, ‘erZ BZnwQ d {MÝho
88) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
89) g§»¶m Am{U dU©‘m{bH$m
90) AmH¥$Ë`m d KZmdarb àíZ, doZ AmH¥$Ë`m

(10) A§H$J{UV Am{U gm§p»¶H$s /10
91) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
92) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
93) Q> o̧$dmar, ^mJrXmar, JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
94) doi d A§Va, aoëdo, ~moQ> d Obàdmh
95) H$mi d H$m‘
96) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr
97) gmYo d MH«$dmT> ì`mO
98) {Xem{ZX}e, KS>çmi, H°$b|S>a, d`
99) g§̂ mì`Vm, H«$‘M¶, gamgar
100) AmboI, Vºo$, ŷ{‘Vr
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(1) _hmamḯ>mMm d ^maVmMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²>̀ o
1) Imbrbn¡H$s H$moUË¶m Ajd¥Îmr¶ {d^mJmV A{YH$ gmJar jmaVm AmT>iVo?

1) 100 Am{U 200 N Xaå¶mZ 2) 200 Am{U 300 N Xaå¶mZ
3) 200 Am{U 300 S Xaå¶mZ 4) 00 Am{U 231/

2

0 S Xaå¶mZ
1) In which of the following latitude zones are maximum ocean salinity values found ?

1) Between 10° and 20° N 2) Between 20° and 30° N

3) Between 20° and 30° 8 4) Between 0° and 23 1/
2
° S

2) Imbrbn¡H$s H$moUË¶m gm‘wÐYwZr‘wio, ^maV lrb§Ho$nmgyZ doJim Pmbm Amho?
1) {O~«mëQ>aMr gm‘wÐYwZr 2)‘bm¸$mMr gm‘wÐYwZr
3) nmëH$Mr gm‘wÐYwZr 4) gw§XmMr gm‘wÐYwZr

2) By which straits of the following is India separates from Sri Lanka ?

1) Strait of Gibralter 2) Strait of Malacca

3) Strait of Palk 4) Strait of Sunda

3) '’y${O¶m‘m' hm à{gÕ Ádmbm‘wIr OnmZÀ¶m H$moUË¶m ~oQ>mda Amho?
1) ³¶wew 2) hmoÝew 3) {eH$moHy$ 4) hmo³¶mS>mo

3) ‘Fujiyama’ is the famous voleano occurred in which island in Japan ?

1) Kyushu 2) Honshu 3) Shikoku 4) Hokkaido

4) ‘hmamï´>mÀ¶m X»IZ nR>mamda J«m‘rU ^mJm‘Ü¶o Ka ~m§YUrgmR>r ¶m ñWm{ZH$ XJS>mMm dmna Ho$bm OmVmo.
1) Om§̂ m XJS> 2) g§J‘adar XJS> 3) J«°ZmB©Q> XJS> 4) ~ogm°ëQ> XJS>

4) The local rock used to construct houses in rural area on the Deccan Plateau of Maharashtra is

1) Laterite rock 2) Marble rock 3) Granite rock 4) Basalt rock

5) ŷJ ©̂emór` H$mbI§S>mV dmVmdaUmer g§nH©$ Zgboë`m nmÊ`mbm Ago åhUVmV:
1) OwdoZmBb dm°Q>a 2) H$m°ZoQ> dm°Q>a 3) ‘°½‘°{Q>H$ dm°Q>a 4) ‘o{Q>Amo[aH$ dm°Q>a

5) Water that has been out of contact with the atmosphere for an appreciable part of geologic period

is termed as :

1) Juvenile water 2) Connate water 3) Magmatic water 40 Meteoric water

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(1) ^maVmMm d _hmamḯ>mMm ŷJmoc KQ>H$mdarb àíZ
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6) Ooìhm {dVibobm ‘°½‘m IS>H$mÀ`m Wam§‘Ü ò j¡{VO[aË`m dmhVmo, n¥ð>^mJmÀ`m OdiÀ`m Wam§Zm ’w$JdVmo, daÀ`m {XeoZo
‘O~yV ‘eê$‘-AmH$mamMr aMZm V`ma H$aVmo, Ë¶mdoir ...............Mr {Z{‘©Vr hmoVo.
1) bmonmo{bW 2) ~m`ñ‘m{bW 3) S>mo‘ 4) b°H$mo{bW

6) A ............... is developed when molten magma flows horizontally between rock layers, bulging the

layers nearer to the surface, upward to form a solidified mushroom-shaped structure.

1) Lopolith 2) Bysmalith 3) Dome 4) Laccolith

7) MwH$sMo {dYmZ {ZdS>m:
1) JS>{Mamobr, A‘amdVr, ZmJnya Am{U `dV‘mi {Oëøm§‘Ü ò Jm|S>dmZm ’$mo‘oeZMo dmiyMo IS>o OmoS>bobo Am{U ^¾

Pmbobo AmhoV Am{U Ë`m§Zm Xwæ`‘ gpÀN>ÐVm Amho.
2) aËZZJar, qgYwXwJ© Am{U H$moëhmnya {OëømV OoWo {H$Zmar Jmi Am{U b°Q>amBQ>Mo àm~ë` Amho, VoWo ImoXboë`m

{d{hatZm Mm§Jbm {dgJ© {‘iVmo.
3) X{jU Ah‘XZJa, gmobmnya, Cñ‘mZm~mX, {Oëho, OoWo Am§VaQ°́{n`Z Jmi Am{U S>mB©Ho$Q> KwgImoar{edm` ~ogmëQ>

àdmh CnpñWV AmhoV na§Vw à‘wI bmb ~mobo {j{VOm§gh, nmaJå`Vm AË §̀V Iam~ Amho.
4) A‘amdVr, AH$mobm Am{U ~wbT>mUm {OëømVrb H$mhr ^mJm§‘Ü ò ngaboë`m nyUm© Aëha{dAb Imoè`mVrb jma ẁº$

àXoemV, ŷObmMr jmaVm hr ŷJ^m©Vrb ŷJ^u` g§aMZoer g§~§{YV Agë`mMo {XgVo.
7) Choose the incorrect statement :

1) In the Gadchiroli, Amravati, Nagpur and Yavatmal districts, the sandstones of Gondwana

fomations are jointed and fractured and possess secondary porosity.

2) In the Ratnagari, Sindhudurg and Kolhapur district where the coastal sedimentaries and laterite

predominate, yield good discharge to dug-wells.

3) In the South Ahmednagar, Solapur, Osmanabad, districts, where basalt flows are present without

intertrappean sediments and dyket intrusions but with prominent red bole horizons, the

permeability is extremely poor.

4) In saline tract of Purna alhrvial basin which spreads in parts of Amravati, Akola and Buldhana

district, the salinity of ground water seems to be related with geological set up of the area

because of poor transmissivity of the aquifer.

8) ~°amoZo g§H$pënV Ho$bobm ñQ>m°amobmBQ> PmoZ hm ............ Mo OmñV à‘mU Agboë`m IS>H$m§gmR>r ‘`m©{XV Amho:
1) Vm§~o 2) ‘°¾o{e`‘ 3) ‘±JZrO 4) bmoh

8) The staurolite zone established by Barrow is restricted to rocks having high content of :

1) Copper 2) Magnesium 3) Manganese 4) Iron

9) Imbrbn¡H$s H$moUË`m IS>H$m‘Ü ò ŷOb àdmhmgmR>r S>mguMm {Z`‘ nmibm OmVmo?
1) J«°ZmBQ> 2) g±S>ñQ>moZ 3) ¹$mQ>©PmBQ> 4) Oo{Zg

9) In which of the following rocks is Darcy's law obeyed for the groundwater flow ?

1) Granite 2) Sandstone 3) Quartzite 4) Gneiss

10) IS>H$mgmR>r nm°¶gZ JwUmoÎmamMo gamgar ‘yë` Amho:
1) 1.00 2) 0.25 3) 0.75 4) 1.50

10) The average value of poison's ratio for rock is :

1) 1.00 2) 0.25 3) 0.75 4) 1.50
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11) S>m|JaJS> J«°ZmBQ>Mo A§XmOo d` Amho:
1) 600-1500  MY 2) 1050-2500  MY 3) 1500-2000  MY 4) 710-2000  MY

11) The estimate age of Dongargarh granite is :

1) 600-1500 MY 2) 1050-2500 MY 3) 1500-2000 MY 4) 710-2000 MY

12) gm°{bS> J«°ZmBQ> ho `mMo CXmhaU Amho:
1) ObMa 2) ObMa 3) ObMa 4) ObMa

12) Solid Granite is an example of :

1) Aquifuge 2) Aquitard 3) Aquiclude 4) Aquifer

13) Imbrbn¡H$s H$moUË`mMr hm`S´m°{bH$ MmbH$Vm gdm©V H$‘r Amho?
1) IS>~S>rV IS>r 2) {T>Jmè`mMr dmiy 3) ~marH$ dmiy 4) MwZIS>r

13) Which of the following has the lowest hydraulic conductivity ?

1) Coarse gravel 2) Dune sand 3) Fine sand 4) Limestone

14) gm‘mÝ`V… j¡{VO {XeoZo ngabobo JmimMo d A{¾OÝ¶ IS>H$, nmÊ`mÀ`m àdmhmg EH$g‘mZ à{VH$ma H$aVmV. Aem
ñdénmÀ¶m EH$g‘mZ à{VamoYH$ IS>H$m§da {dH${gV Pmbobr ZXràUmbr/ SóZoO n°Q>Z© åhUOo ........
1) Am`VmH¥$Vr  2) ~«oS>oS> 3) Q́obrg 4) S|>{S´{Q>H$

14) ............. drainage pattern generally develops upon homogenous rocks of uniform resistance, such

as, horizontally bedded sedimentary rocks and massive igneous rocks that offer uniform resistance

in the flow of water.

1) Rectangular 2) Braided 3) Trellis 4) Dendritic

(2) {d{dY ŷéno, nd©V Am{U nR>ma - Q>oH$S>çm, am§Jm, {eIao, KmQ>
1) S>ããë¶y. E‘. S>opìhgÀ¶m ‘Vo, b±S>ñHo$n {dH$mgmdarb VrZ ‘w»` {Z §̀ÌUo AmhoV:

1) aMZm, à{H«$`m, Q>ßnm 2) hdm‘mZ, aMZm, {bWm°bm°Or
3) hdm‘mZ, dZñnVr, {bWm°bm°Or 4) aMZm, à{H«$`m, {bWmobm°Or

1) According to W.M. Davis, the three main controls on landscape development are :

1) Structure, Process, Stage 2) Climate, Structure, Lithology

3) Climate, Vegetation, Lithology 4) Structure, Process, Lithology'

2) ^maVmÀ¶m àmH¥${VH$ ZH$memV ‘hmamï´> nR>ma Imcrcn¡H$s H$moUË¶m a§JmZo Xe©{dco Amho ?
1) JS>X {hadm 2) {hadm  3) {ndim 4) Vn{H$ar

2) In the physical map of India, Maharashtra plateau is shown by which of the following colours ?

1) Dark green 2) Green 3) Yellow 4) Brown
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3) ¶mo½¶ OmoS>çm Owidm
{eIa, {R>H$mU C§Mr (‘rQ>a)
a. ‘m§Jr-Vw§Jr i. 1567
b. Í¶§~Ho$ída ii. 1416
c. gáe¥§Jr iii. 1304
d. gmëhoa iv. 1100
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iiI) (ii) (i)

2) (iv) (i) (ii) (iv)

3) (ii) (i) (iii) (iv)

4) (i) (ii) (iii) (iv)

3) Match the following : hE fh

Peak, Place Height (meter)

a. Mangi-Tungi i.   1567

b. Feri ii.  1416

c. Saptashringi iii. 1304

d. Salher iv.  1100

Answer Options :

(a) (b) (c) (d)

1) (iv) (iiI) (ii) (i)

2) (iv) (i) (ii) (iv)

3) (ii) (i) (iii) (iv)

4) (i) (ii) (iii) (iv)

4) am¶bgr‘m nR>mamMo ñWmZ ........... ¶oWo Amho?
1) H$Zm©Q>H$ nR>mamÀ¶m CÎmaobm 2) H$Zm©Q>H$ nR>mamÀ¶m npíM‘obm
3) H$Zm©Q>H$ nR>mamÀ¶m X{jUobm 4) H$Zm©Q>H$ nR>mamÀ¶m nyd}bm

4) Railseema Plateau is located in ...............  region.

1) North of Karnataka Plateau 2) West of Karnataka Plateau

3) South of Karnataka Plateau 4) East of Karnataka Plateau

5) gømÐrMr am§J gai aofoV ZgyZ AZoH$ {R>H$mUr Vr dH«$mH$ma Pmcocr Amho H$maU
1) gømÐrVyZ CJ‘ nmdUmè¶m H$moH$UmVrc ZÚm§Zr CJ‘mnmer Ho$coë¶m erf©dVu IZZm‘wio Vr dH«$mH$ma Pmcocr Amho.
2) gømÐrVyZ CJ‘ nmdUmè¶m H$moH$UmVrc ZÚm§À¶m nmíd©dVu IZZm‘wio Vr dH«$mH$ma Pmcocr Amho.
3) gømÐrVyZ CJ‘ nmdUmè¶m H$moH$UmVrc ZÚm§À¶m VimÀ¶m IZZm‘wio Vr dH«$mH$ma Pmcocr Amho.
4) gømÐrVyZ nS>Umè¶m ‘wgiYma nO©Ý¶m‘wio gømÐrMr PrO hmoD$Z Vr dH«$mH$ma Pmcocr Amho.
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5) The Sahyadri range is not straight but at many places it is curved, because

1) The Sahyadri range is curved at many places because of the headward erosion of the

Konkan rivers originating in Sahyadri

2) The Sahyadri range is curved at many places because of the lateral erosion of the Konkan

rivers originating in Sahyadri

3) The Sahyadri range is curved at many places because of the downward erosion of the Konkan

rivers originating in Sahyadri

4) Due to heavy rainfall the Sahyadri range is heavily eroded and hence it is curved

6) Imcrcn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a AmhoV ?
‘hmamï´>mV CÎmaoH$Sy>Z H«$‘mZo nR>mamdarc à‘wI S>m|Jaam§Jm d Ë¶m§À¶m X{jUoH$S>rc ZÚm§Mr Imoar Imcrcà‘mUo AmhoV :
A) gmVnwS>m nd©V am§JoÀ¶m X{jUoH$S>o Vmnr-nyUm© Imoao.
~) gmV‘mim AqOR>m S>m|JamÀ¶m X{jUog JmoXmdar ZXrMo Imoao.
H$) h[aíM§Ð ~mcmKmQ> S>m|Ja d Ë¶mÀ¶m X{jUog ^r‘m ZXrMo Imoao.
S>) e§̂ y ‘hmXodmMo S>m|Ja d Ë¶m§À¶m X{jUog H¥$îUm ZXrMo Imoao
n¶m©¶r CÎmao …
1) ’$º$ A 2) darc gd© ~amo~a 3)  ’$º$ A d ~ 4) ’$º$ A d H$

6) Which of the following is/are correct statements ?

In Maharashtra, in order from north, the major hill ranges on the plateau and the river basins to

their south are as follows :

a. Tapi Purna basin to the south of the Satpura mountain range.

b. Godavari river valley to the south of Satmala Ajintha hills.

c. Harishchandra Balaghat hill and Bhima river basin to its south.

d. Shambhu Mahadeva hills and Krishna river basin to its south.

Answer Options :

1) Only a 2) All are correct 3) Only a and b 4) Only a and c

7) npíM‘ n°{g{’$H$ ‘hmgmJamÀ¶m {H$ZmamdVu ^mJmV àm‘w»¶mZo gmJar‘mJ© AmT>iVmV H$maU
1) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘oH$S>rc {H$ZmamdVu ^mJ AYmoJ‘Z joÌmMm Amho.
2) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘ {H$Zmar ^mJmcm g‘m§Va nd©Vam§Jm ngaë¶m AmhoV.
3) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘oH$S>rc ^mJmV I§S>mÝV CVma Vrd« Amho.
4) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘r ^mJmV gmJarJVm© ‘moR>çm à‘mUmda AmT>iVmV.

7) Trenches are found mainly along the coast of the western Pacific Ocean because

1) The western margin of the Pacific Ocean is the sub-duction zone

2) Along the western border of the Pacific Ocean parallel mountain ranges are aligned

3) The continental slope of the western part of the Pacific Ocean is steep

4) The western part of the Pacific Ocean is characterised by a large number of trenches

8) nyd© A{’«$Ho$Vrb IMXarV hr gamodao AmT>iVmV.
a) Ý¶mgm Am{U éS>moë’$ b) pìh³Q>moar¶m
c) gwno[aAa Am{U {‘{MJZ d) Bao
n¶m©¶r CÎmao …
1) (a) Am{U (d) 2) (b) ’$º$ 3) (c) Am{U (d) 4) (d) ’$º$
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8) These lakes are occurred in the rift valley in East Africa.

a) Nyasa and Rudolf b) Victoria

c) Superior and Michigan d) Erie

Answer options :

1) (a) and (b) 2) Only (b) 3) (c) and (d) 4) Only (d)

(3) _w»` àmH¥${VH$ {d^mJ - {h‘mb¶, ‘¡XmZo, {H$ZmanÅ>r, nR>ma, gømÐr, H$moH$U, ~oQ>o
1) ‘Ü¶ {h‘mb¶rZ am§JoVrb {eIam§Mm C§MrZwgma H$moUVm MT>Vm H«$‘ ¶mo½¶ Amho?

1) Ydb{Jar - AÞnwUm© - ‘H$mbw - H$m§MZJ§Jm
2) AÞnyUm© - ‘H$mbw - Ydb{Jar - H$m§MZJ§Jm
3) H$m§MZJ§Jm - AÞnwUm© - Ydb{Jar - ‘H$mbw
4) AÞnwUm© - Ydb{Jar - ‘H$mbw - H$m§MZJ§Jm

1) In middle Himalaya, as per the height of peaks, which ascending order is correct ?

1) Dhavalgiri — Annapurna — Makalu — Kanchanjunga

2) Annapurna — Makalu — Dhavalgiri — Kanchanjunga

3) Kanchanjunga — Annapurna — Dhavalgiri — Makalu

4) Annapurna — Dhavalgiri — Makalu — Kanchanjunga

(4) hdm‘mZemó, nO©Ý`‘mZ d Vmn‘mZ
1) Imcrcn¡H$s H$moUË¶m {Xder X{jU JmocmYm©Vrc CÝhmir A¶Z{XZ ¶oVmo ?

1) 21 ‘mM© 2) 21 OyZ 3) 23 gßQ>|~a 4)  22 {S>g|~a
1) On which of the following day does the summer solstice occurs in the southern hemisphere ?

1) 21 March 2) 21 June 3) 23 September 4) 22 December

2) hdm‘mZ ~XbmgmR>r Am¶nrgrgrZo  Agm A§XmO dV©dbm Amho H$s 2100 n ª̀V OmJ{VH$ gamgar n¥ð>^mJmÀ`m Vmn‘mZmV
....... BVH$s dmT> hmoB©b
1) 1.1 Vo 4.0°C 2) 1.1 Vo 6.4°C 3) 2.1 Vo 5.0°C 4) 21 Vo 7.4°C

2) The IPCC for climate change has estimated that by 2100 the global average surface warming will

increased by .....

1) 1.1 to 4.0°C 2) 1.1 to 6.4°C 3) 2.1 to 5.0°C 4) 21 to 7.4°C

3) dmVmdaUmMo JwUY‘© ho AmhoV :
a) Vo Ñí`‘mZ Zmhr, na§Vw Ë¶mV hmbMmb hmoV Agë`mg Vo OmUdVo
b) Ë`mbm J§Y qH$dm Md qH$dm a§J Zmhr
c) Vo OmJm ì`mnV Zmhr Am{U Ë¶mg dñVw‘mZ Zmhr
d) Ë`m‘wio X~md òVmo
n¶m©¶r CÎmao …
1) a, b Am{U c 2) a, b Am{U d 3) b, c Am{U d 4) a, b, c Am{U d
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3) The properties of atmosphere are :

a) ltis not visible, but it is felt if in motion

b) It has no smell or taste or colour

c) It does not occupy space and has no mass

d) It exert pressure

Answer options :

1) a, b and c 2) a, b and d 3) b, c and d 4) a, b, c and d

4) ^maVmVrb {nH$m§da {dnarV n[aUm‘ H$aUmao hdm‘mZOÝ¶ KQ>H$ ......... ho AmhoV :
a) XwîH$mi Am{U nya b) CîUVm Am{U W§S>rÀ`m bmQ>m
c) ‘mVrMo àH$ma d) OmoamMm dmam
n¶m©¶r CÎmao …
1) a, b Am{U c 2) a, b Am{U d 3) a, b, c Am{U d 4) b, c Am{U d

4) The weather abnormalities which can affect crops adversely in India are :

a) Drought and floods b) Heat and cold waves

c) Soil types d) High winds

Answer options :

1) a, b and c 2) a, b and d 3) a, b, c and d 4) b, c and d

5) Imbrbn¡H$s H$moUVm KQ>H$ H¥$fr ì`dñWoMr nwZa©MZm H$ê$Z hdm‘mZ ~Xbm‘Ü ò AÞ gwajm gw{ZpíMV H$ê$ eH$Vmo?
1) ½bmo~b emofH$ àUmbr 2) hdm‘mZ ñ‘mQ>© eoVr
3) IPCC 4) darb gd©

5) Which of the following action can reorient the agricultural system and ensure food security in

climate change ?

1) Global absorbing system 2) Climate smart agriculture

3) IPCC 4) All of the above

6) H¥$fr joÌmg‘moarb hdm‘mZ ~XbmMr ........... hr J§̂ ra AmìhmZo AmhoV
1) g‘wÐ nmVir dmT>Uo 2) XwîH$mi 3) grAmoQy> CËgO©Z 4) XmoÝhr (1) Am{U (2)

6) Severe climate change challenges to the Agricultural sector are .........

1) Rising sea level 2) Droughts 3) CO, emission 4) Both (1) and (2)

7) UNFCCC Mo nyU© ê$n H$m` Amho?
1) hdm‘mZ ~Xbmda g§̀ wº$ amï´>m§Mo ’«o$‘dH©$ AmMma
2) g§̀ wº$ amï´>m§Mo hdm‘mZ ~Xbmda H|${ÐV H|$Ð
3) hdm‘mZ ~Xbmdarb g§̀ wº$ amï´>m§Mo ’«o$‘dH©$ H$ÝìhoÝeZ
4) g§̀ wº$ amï´> ~§YwËd n[ag§K Am°Z Šbm`‘oQ> M|O

7) What is the full form of UNFCCC ?

1) United Nations Framework Conduct on Climate Change

2) United Nations Focused Centre on Climate Change

3) United Nations Framework Convention on Climate Change

4) United Nations Fraternity Confederation on Climate Change
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(5) nO©Ý`mVrc {d^mJdma ~Xc
1) Z°eZb aoZ’o$S> E[a`m Am°°Wm°[aQ>rZwgma, Xa .......... dfm©VyZ EH$Xm XwîH$mi nS>Ê`mMr e³¶Vm ^maVmV AgVo.

1) 1-5 dfm©VyZ 2) 1-10  dfm©VyZ 3) 2-5  dfm©VyZ 4) 10  dfm©VyZ
1) As per the National Rainfed Area Authority, the frequency of occurance of drought once in India

is ............

1) 1-5Years 2) 1-10 Years 3) 2-5 Years 4) > 10years

2) H$moUVo T>J ‘Ü`‘ Am{U Cƒ Ajm§em§‘Ü ò Mm§Jbm nmD$g XoVmV?
1) AëQ>mo - ñQ°́Q>g 2) AëQ>mo - Š¶wå ẁbg 3) qZ~mo - ñQ°́Q>g 4) ñQ°́Q>mo - ³¶wå ẁbg

2) Which clouds give good amount of rainfall in the middle and high latitudes ?

1) Alto - Stratus 2) Alto - Cumulus 3) Nimbo - Stratus 4) Strato - Cumulus

3) ''‘mÝgyZMr ‘mKma'' hm ^maVr¶ hdm‘mZmMm Am{dîH$ma Imcrcn¡H$s H$moUË¶m dmVmdaUr¶ n[apñWVrMm n[aUm‘ Amho?
1) Z¡F©$Ë¶ ‘mÝgyZ dmao {h‘mc¶ nd©Vam§Jm§n¶ªV nmohmoMë¶mZ§Va Vo VoWyZ ‘mKmar {’$aVmV.
2) gy¶m©Mo ^mg‘mZ «̂‘U.
3) ^maVmÀ¶m dm¶ì¶ ^mJmH$Sy>Z Am½Zo¶ ^mJmH$S>o Cƒ dm¶ŵ ma nQ²>Q>çmMm hmoUmam {dñVma.
4) ^maVr¶ CnI§S>mV {Z‘m©U hmoUmar dm¶ŵ mamVrc {^ÞVm.

3) The climatic phenomena retreating monsoon is the result of which of the following atmospheric

condition in India ?

1) After reaching to the Himalayan ranges the south-west monsoons retreats

2) The apparent movement of the Sun

3) The expansion of the high pressure belt from north-western part to south-eastern part of India

4) The occurrence of variability in the atmospheric pressure developed over the Indian sub-

continent

4) grnr-B§S>oŠg nojm OmñV dmhÿZ OmUmao nmUr/ aZAm°’$ ìhm°ë ỳ‘  ho ghgm ................ åhUyZ AmoiIbo OmVo.
1) A°âb³g/OmoamMm nmD$g 2) A{Vd¥ï>r
3) Bb{’$Q´>oeZ nmÊ¶mMo ‘waUo 4) dmhUmao nmUr

4) The runoff volume above cp-Index is usually known as  ................

1) Afflux 2) Rainfall Excess

3) Infiltration 4) True Runoff

5) EImÚm {d{eï> {R>H$mUr, {ZarjU H$mbmdYrV hmoUmam nmD$g, j¡{VO n¥ð>^mJmdarb nmÊ`mMr Imobr åhUyZ ì`º$ Ho$ë`mg
Ë¶mbm   .......... åhUyZ AmoiIbo OmVo:
1) nO©Ý` à‘mU 2) nO©Ý` Xa
3) ~mînr^dZ Xa 4) joÌr` nO©Ý`

5) The precipitation at a specific location expressed as as water depth over a horizontal surface

during a period of observation is known as :

1) Precipitation Yield 2) Precipitation Rate

3) Evaporation Rate 4) Areal Precipitation
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6) ObMH«$mV .......... ho g‘m{dï> Amho:
1) ~mînr^dZ, n¥ð>^mJmdarb àdmh, dfm©d, ŷn¥ð>mdarb àdmh
2) n¥ð>^mJmdarb àdmh, dfm©d, Cnn¥ð>r` àdmh
3) ~mînr^dZ, n¥ð>^mJmdarb àdmh, dfm©d
4) ~mînr^dZ, n¥ð>^mJmdarb àdmh, ŷn¥ð>mdarb àdmh

6) Hydrologic cycle includes :

1) Evaporation, surface runoff, precipitation, subsurface runoff.

2) Surface runoff, precipitation, subsurface runoff

3) Evaporation, surface runoff, precipitation

4) Evaporation, surface runoff, subsurface runoff

7) ŷ‘Ü¶ gm‘w{ÐH$ àXoemV {hdmù¶mV nmD$g nS>Ê¶mMo H$maU ..........
1) dm¶ŵ ma nQ²>Q>çm§Mo Am§XmocZ
2) dm¶ŵ ma nQ²>Q>çm§À¶m Am§XmocZm‘wio {hdmù¶mV ŷ‘Ü¶ g‘wÐmÀ¶m àXoemV H$‘r dm¶ŵ ma àXoe {Z‘m©U hmoVmo.
3) ŷ‘Ü¶ g‘wÐmH$Sy>Z ŷ̂ mJmH$S>o dmao dmhVmV
4) Amëßg nd©VmÀ¶m dmV gÝ‘wI CVmamda à{VamoY nO©Ý¶ nS>Vmo.

7) Winter rainfall received by the Mediterranean region is the result of

1) Shifting of pressure belts

2) Low pressure belt occurs over the Mediterranean region during the winter season

due to shifting of pressure belts

3) Winds blow from the Mediterranean sea towards land

4) Orographic rain developed on the windward slope of the Alps

8)  nyd© àem§V ‘hmgmJamMo nmUr Agm‘mÝ`nUo W§S> AgVmZm  ............ gmJar àdmh CX²̂ dVmo.
1) MH«$sdmXi 2) A±{Q>gm`ŠbmoZ 3) bm {ZZm 4) EINino

8) ............ occurs when the waters of the eastern Pacific are abnormally cold.

1) Cyclone 2) Anticyclone 3) La Nina 4) EINino

9) nmUbmoQ> joÌmVrb Adf©UMb nmD$g åhUOo Z¸$s H$m` ?
1) nmUbmoQ> àXoemVrb Q>moH$mMm n[adV©Zerb nmdgmMm H$mbmdYr
2) ZXrÀ`m nmÊ`mMr nmVir nmUbmoQ> joÌmÀ`m Imbr òVo
3) nmUbmoQ> àXoemV gamgarnojm H$‘r nmdgmMm {d{eï> H$mbmdYr
4) ‘mZd Am{U àmUr OJÊ`mgmR>r nmÊ`mMr CnbãYVm H$‘r hmoV Amho.

9) What exactly is drought variable rainfall in the watershed reigon ?

1) Period of highly variable rainfall in the watershed region

2) River water levels fall below the watershed region

3) A specific period of below-average rainfall in the watershed region

4) The availability of water for human and animal survival is decreasing.
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10) nO©Ý`‘mZ hm`Q>moJ«m’$  ......... Mo H$m{bH$ {dVaU ñnîQ> H$aVmo.
1) nmdgmMo à‘mU 2) nmdgmMr Imobr
3) nmdgmMr Vrd«Vm 4) nmdgmMr dma§dmaVm

10) The rainfall hyetograph gives time distribution of ........

1) Rainfall volume 2) Rainfall depth

3) Rainfall intensity 4) Rainfall frequency

11) hm`Q>moJ«m’$ hm ............. Mm ßbm°Q> Amho.
1) nmUr {dê$Õ H$mbmdYr 2) hdm {déÕ H$mbmdYr
3) H$mbrH$ VwbZoV nmdgmMr Vrd«Vm 4) H$mbmdYr {dê$Õ ‘hmny

11. A Hyetograph is a plot of  ................

1) time against water 2) time against air

3) the intensity of rainfall against the time interval 4) flood against time

12) Imbrb àXoemg XwîH$mir àXoe åhUyZ AmoiIbo OmVo H$maU ......
a) gømÐr nd©VÀ¶m nyd}g dgbobm àXoe
b) ¶oWo dm{f©H$ 100 Vo 200 go‘r nmD$g nS>Vmo
c) ‘amR>dmS>m d ImZXoemVrb OmñVrV OmñV àXoemMm ¶mV g‘mdoe hmoVmo
d) hm ^mJ Z¡F$Ë¶ ‘mog‘r dmè¶m§À¶m nO©Ý¶N>m¶oÀ¶m àXoemV ¶oVmo
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a), (c) Am{U (d) 3) (c) Am{U (d) 4) darb gd©

12) This region is known as drought region because ......

a) This region is situated to the east of the Sahyadri Mountains.

b) 100 to 200 cm of palm tree falls here annually

c) It includes maximum regions of Marathwada and Khandesh

d) This region falls in the rain shadow region of southwest monsoon winds

Answer options :

1) (a) and (b) 2) (a), (c) and (d) 3) (c) and (d) 4) All of the above

13) amï´>r` H¥$fr Am`moJ (1976) Zwgma, Imbrbn¡H$s H$moUVm XwîH$mi hm XwîH$mimMm àH$ma Zmhr?
1) YmÝ`mMm XwîH$mi 2) hdm‘mZ{df`H$ XwîH$mi
3) Ob{dkmZ XwîH$mi 4) H¥$fr XwîH$mi

13. According to National Commission on Agriculture (1976), which of the following does not come

in the category of drought ?

1) Grain Drought 2) Meterological Drought

3) Hydrological Drought 4) Agricultural Drought

14) Á`m ^mJmV dm{f©H$ nO©Ý`‘mZ 600-850 {‘.‘r.À`m loUrV Amho, VoWo ........... àH$maMo nrH$ {Z¶moOZ Ho$bo OmVo.
1) Xw~ma nrH$ 2) Am§VanrH$ 3) {Vhoar nrH$ 4) nrH$ AmdV©Z

14) In areas where the annual rainfall is in the range of 600-850 mm, . .......... is being recommended

and practiced.

1) double cropping 2) intercropping 3) triple cropping 4) crop rotation
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15) eoVremómZwgma ............. ñdénmÀ¶m eoVrVrb {nH$m§Zm O{‘ZrVrb AmÐ©Vm nwaoer Amho.
1) H$moaS>dmhÿ eoVr 2) H$moaS>dmhÿ eoVr 3) nmdgmda AmYm[aV eoVr 4) AY©-ewîH$ eoVr

15) Under farming, moisture availability is enough to the crops.......

1) dryland farming 2) dry farming 3) rainfed farming 4) semi-arid

(6) ZÚm - YaUo  Am{U qgMZ àH$ën
1) J§Jm H¥$Vr `moOZm H$Yr gwê$ Pmbr?

1) 2001 2) 1986 3) 1982 4) 2005
1) When the Ganga Action Plan was started?

1) 2001 2) 1986 3) 1982 4) 2005

2) ^maVmVrb nmUrnwadR>çmÀ`m ‘yb ŷV JaOm§gmR>r dmnaë`m OmUmè¶m  ^maVr` ‘mZH$ g§{hVoMo Zmd gm§Jm.
1)  IS :  12183 2)  IS :  1343 3)  IS :  456 4)  IS :  1172

2) Name the Indian Standard Code used for basic requirements of water supply in India.

1) IS : 12183 2) IS : 1343 3) IS : 456 4) IS : 1172

3) ẁ{ZQ> hm`S´moJ«m’$ {gÕm§V H$moUr gm§{JVbm?
1) boam°̀  Ho$. eo‘}Z 2) am°~Q>© B©. hm°Q>}Z 3) ‘o[ab ~Zm©S>© 4) S>opìhS> Ho$. Q>m°S>

3) The unit hydrograph theory was enunicated by whom ?

1) Le-Roy K. Shermen 2) Robert E. Horten

3) Merril Bernard 4) David K. Todd

4) JmoXmdar d H¥$îUm ZÚm§À¶m VwcZoZo H$mdoar ZXrÀ¶m nmÌmV {hdmù¶mV nmÊ¶mMo à‘mU dmT>Vo, H$maU ....
1) Z¡F$Ë¶ ‘mÝgyZ dmè¶m§‘wio H$mdoar ZXrÀ¶m nmÌmV nO©Ý¶d¥ï>r ‘moR>çm à‘mUmV hmoVo.
2) B©emÝ¶ ‘mÝgyZ dmè¶m§‘wio H$mdoar ZXrÀ¶m nmÌmV nO©Ý¶d¥ï>r ‘moR>çm à‘mUmV hmoVo.
3) H$mdoar ZXrÀ¶m nmÌmV B©emÝ¶ d Z¡F$Ë¶ ‘mÝgyZ dmè¶m§nmgyZ nO©Ý¶d¥ï>r hmoVo.
4) H$mdoar ZXrÀ¶m CnZÚm H$mdoar ZXrÀ¶m nmÌmV ‘moR>çm à‘mUmV nmÊ¶mMm nwadR>m H$aVmV.

4) As compared to the Godavari and Krishna rivers, the course of the Kaveri river receives large

volume of water during winter, because

1) The course of the river Kaveri receives heavy rainfall from the south-west monsoons

2) The course of the river Kaveri receives heavy rainfall from the north-east monsoons

3) The course of the river Kaveri receives rainfall from both south-west and north-east

monsoons

4) The tributaries of the Kaveri provide large volume of water to the course of the Kaveri

5) Adf©UàdU nmUbmoQ> joÌmÀ`m gw{dYogmR>r n¥ð>^mJmÀ`m nmÊ`mÀ`m àUmbrMo à^mdr ì`dñWmnZ H$aÊ`mgmR>r JmoXmdar
ZXrda ~m§YÊ`mV Ambobm OJmVrb gdm©V ‘moR>m ~hþCÔoer` OrdZ qgMZ àH$ën H$moUVm Amho?
1) {ZOm‘ gmJa àH$ën 2) {gam‘ gmJa àH$ën 3) H$mò Zm Obme` 4) H$mioída‘ àH$ën

5) Which is the world's largest multipurpose life irrigation project constructed on the Godavari

River for effective management of surface water system to facilitate drought prone watershed

areas ?

1) Nizam sagar Project 2) Siram Sagar Project

3) Koyana reservoir 4) Kaleswaram Project
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6) ^maVmVrb H$moUË`m n{hë`m amÁ`mZo ŷOb ì`dñWmnZ Am{U aoZdm°Q>a hmd}pñQ>§J ñQ´ŠMg© A{Zdm ©̀ Ho$bo AmhoV?
1) ‘hmamï´> 2) Vob§JUm 3) Vm{‘iZmSy> 4) JwOamV

6) Which Indian first state has made ground water management and rainwater harvesting structures

mandatory ?

1) Maharashtra 2) Telangana 3) Tamil Nadu 4) Gujarat

7) J§Jm Am{U `‘wZm ZXr (J§JoMr EH$ à‘wI CnZXr) `m§Zm H$m`Xoera ì`º$s åhUyZ g‘mZ A{YH$ma AmhoV ho Imbrbn¡H$s
H$moUË`m Cƒ Ý`m`mb`mZo àW‘ AmoiIbo?
1) {X„r Cƒ Ý`m`mb` 2) ‘Ü` àXoe Cƒ Ý`m`mb`
3) CÎma àXoe Cƒ Ý`m`mb` 4) CÎmamI§S> Cƒ Ý`m`mb`

7) Which of the following High Court were the first to recognize that the Ganges and the Yamuna

River (a major tributary of the Ganges) have the same rights as a legal person?

1) Delhi High Court 2) Madhya Pradesh High Court

3) Uttar Pradesh High Court 4) Uttarakhand High Court

8) ¶mo½¶ OmoS>çm Owidm
ñV§̂  I (ZXr) ñV§̂  II (Ocme¶)
a) ^r‘m i) ehmOr gmJa
b)  Hw$H$S>r ii) VmZmOr gmJa
c) doid§S>r iii) ¶ed§V gmJa
d) ‘wR>m iv) ¶ogmOr H§$H$ gmJa
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)

8) Match the correct pairs.

Column I (River)  Column II (Lake)

a) Bhima i) Shahaji Sagar

b) Kukadi ii) Tanaji Sagar

c) Velwandi iii) Yashwant Sagar

d) Mutha iv) Yesaji Kank Sagar

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)
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9) Oc{dÚwV àH$ën Am{U {d^mJ Imcr XoÊ¶mV Amco AmhoV . ¶mo½¶ OmoS>çm Owidm.
ñV§̂  I ñV§̂  II

a) gy¶m© i) A‘amdVr
b) XþYJ§Jm ii) Zm{eH$
c) H$a§OdU iii) nwUo
d) ehmZya iv) H$moH$U
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (iv) (iii) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (ii) (iii) (iii)

9) Hydro power projects and zone given below. Match the correct pairs.

 Column I Column II

a) Surya i)  Amaravati

b) Dudhganga ii) Nashik

c) Karanjwan iii) Pune

d) Shahanoor iv) Konkan

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (iv) (iii) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (ii) (iii) (iii)

10) '‘§Yma Am{U XS>u' ho à{gÕ Y~Y~o H$moUË¶m XmoZ ZÚm§À¶m g§J‘mda AmT>iVmV?
1) N>moQ>r - Vdm 2) nyUm© - {JaUm 3) ^r‘m - B§Ðm¶Ur 4) ‘§S>mdr - {VamH$mob

10) ‘Mandhar and Dard’, these famous waterfalls occur in confluence of which two rivers ?

1) Choti— Tawa 2) Purna-Girna

3) Bheema — Indrayani 4) Mandavi — Tirakol

11) ‘hmamï´>mVrb ‘w»¶ ZXr d {VMr CnZXr ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
   ZXr CnZXr
a) ^r‘m i) XþYZm
b) H¥$îUm ii) ~moar
c) JmoXmdar iii) H$èhm
d) Vmnr iv) ^r‘m
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iv) (ii) (iii) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (iii) (iv) (i)
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11) Match the correct pairs of main river and her tributaries in Maharashtra :

   River Tributeries

a) Bheema i) Dudhana

b) Krishna ii) Beri

c) Godavari iii) Karha

d) Tapi iv) Bheema

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iv) (ii) (iii) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (iii) (iv) (i)

12) ‘hmamï´>mVrb ObàH$ën d Ë¶m§À¶m nmUr gmR>çmV Agbobr Zmdo ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
ObàH$ën Ob gmR>çm§Mo Zmd
a) H$mo¶Zm i) ZbX‘¶§VrgmJa
b) §̂S>maXam ii) ZmWgmJa
c) Aßna dYm© iii) {edgmJa
d) Om¶H$dmS>r iv) AmW©a gamoda
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (iv) (ii) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (i) (ii)

12) Match the correct pairs of water project and the name of its water storage in Maharashtra :

Water Project Name of Water Storage

a) Koyana i) Nala Damayanti Sagar

b) Bhandardara ii) Nathsagar

c) Upper wardha iii) Shivsagar

d) Jayakwadi iv) Arthar Sarovar

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (iv) (ii) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (i) (ii)
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13) IMXarVyZ dmhUmar ‘hmamï´>mVrb gdm©V ‘moR>r npíM‘dm{hZr ZXr H$moUVr?
1) Vmnr 2) Z‘©Xm 3) Cëhmg 4) emór

13) Which is the largest west-flowing Rift System river of Maharashtra ?

1) Tapi 2) Narmada 3) Ulhas 4) Shastri

14) Imbrbn¡H$s H$moUË¶m nd©V am§Jm / Q>oH$S>çm JmoXmdar Am{U ^r‘m ZXrMo Imoao doJio H$aVmV?
a) ‘hmXod S>m|Ja b) gmV‘mim S>m|Ja c) ~mbmKmQ> S>m|Ja d) AO§R>m S>m|Ja
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (d) 2) ’$º$ (b) 3) ’$º$ (c) 4) ’$º$ (a)

14) Which of the following mountain ranges/hills separate Godavari river basin and Bheema river

basin from each other ?

a) Mahadev Hills b) Satmala Hills c) Balaghat Hills d) Ajanta Hills

Answer options :

1) Only (a) and (d) 2) Only (b) 3) Only (c) 4) Only (a)

15) ^maVmVrb ZXrdarb Y~Yã¶m§Mr C§MrZwgma H$moUVm MT>Vm H«$‘ ¶mo½¶  Amho?
1) doÊUm - YwdmYma - JmoH$mH$ - OmoJ 2) YwdmYma - doÊUm - JmoH$mH$ - OmoJ
3) OmoJ - doÊUm - YwdmYma - JmoH$mH$ 4) YwdmYma - JmoH$mH$ - doÊUm - OmoJ

15) Which ascending order is correct as per the height of waterfalls on rivers in India ?

1) Venna — Dhuvadhar — Gokak — Jog 2) Dhuvadhar —Venna — Gokak — Jog

3) Jog — Venna — Dhuvadhar — Gokak 4) Dhuvadhar — Gokak —Venna — Jog

16) Imbrbn¡H$s `mo½` {dYmZ emoYm:
1) ‘hmamï´>mV gw‘mao 22,250 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 50% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
2) ‘hmamï´>mV gw‘mao 85,450 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 70% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
3) ‘hmamï´>mV gw‘mao 65,450 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 75% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
4) ‘hmamï´>mV gw‘mao 44,185 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 67% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
16) Trace out the correct statement from the following :

1) There are in all around 22,250 micro watersheds in Maharashtra. According to estimate around

50% of the geographical areas requires watershed treatment.

2) There are in all around 85,450 micro watersheds in Maharashtra. According to estimates around

70% of the geographical area requires watershed treatment.

3) There are in all around 65,450 micro watersheds in Maharashtra. According to estimates around

75% of the geographical area requires watershed treatment.

4) There are in all around 44,185 micro watersheds in Maharashtra. According to estimate around

67% of the geographical area requires watershed treatment.
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17) ‘m`H«$mo dm°Q>aeoS> ho ‘moO‘mnmMo Ago EH$H$ Amho  H$s Á`mMo ŷjoÌ ho .........  ho³Q>ra AgyZ Ë¶m joÌmVrb gd© nmUr [aO
aofoZo doT>boë`m gm‘mÝ` q~Xy qH$dm AmCQ>boQ>n ª̀V nyU©nUo dmhÿZ OmVo.
1) 1-100 hoŠQ>a 2) 100-1000 hoŠQ>a 3) 1000-10,000 hoŠQ>a 4)  50,000 hoŠQ>a

17) The micro-water-shed is a unit of measurement that encompasses all land that has an area of

......... and contributes to total run-off to a common point or outlet surrounded by a ridge line.

1) 1-100 Hect 2) 100-1000 Hect

3) 1000-10,000 Hect 4) 50,000 Hect

18) ^maVmV ŷObmMo {H$Vr àm§V AmhoV? ‘hmamï´> amÁ` H$moUË`m àm§VmV òVo?
1) 8 àm§V, S>o̧ $Z Q°́n àm§V 2) 6 àm§V, priH°$på~«̀ Z ñ’${Q>H$mgmaIo àm§V
3) 5 àm§V, Jm|S>dmZm JmimMm àm§V 4) 7 àm§V, H±{~«̀ Z JmimMo àm§V

18) How many groundwater provinces are demarcated in India ? Maharashtra state comes under which

province ?

1) 8 provinces, Deccan trap province

2) 6 provinces, Precambrian crystalline provinces

3) 5 provinces, Gondwana sedimentary provinces

4) 7 provinces, Cambrian sedimentary provinces

19) Imbrbn¡H$s H$moUË`m ObòmoVmMm ‘hmamï´>mVrb EH${ÌV ObòmoVmA§VJ©V {dMma Ho$bm OmV Zmhr?
1) S>o̧ $Z Q°́ßg 2) gm°ga grarO 3) Jm|S>dmZm 4) qdÜ`

19) Which of the following is not considered under consolidated aquifers in Maharashtra ?

1) Deccan Traps 2) Saucer series 3) Gondwanas 4) Vindhyans

20) Imbrbn¡H$s H$moUVo {dYmZ gË` Zmhr?
1) aËZm{Jar, qgYwXwJ© Am{U H$moëhmnya {Oëho ImoXboë`m {d{harVyZ Mm§Jbm {dgJ© XoVmV.
2) JS>{Mamobr, A‘amdVr, M§Ðnya, ZmJnya Am{U `dV‘mi {Oëôµ̀ m§‘Ü ò dmiyMo IS>o OmoS>bobo Am{U ^¾ Pmbobo AmhoV

Am{U Ë`mV Xwæ`‘ gpÀN>ÐVm Amho.
3) A‘amdVr, AH$mobm, ~wbT>mUm, OiJmd Am{U Ywio {Oëøm§Vrb 80 ‘rQ>aÀ`m Imbr Agbobo OwZo ObmoXa ’$mago

CËnmXH$ Zmhr.
4) Ywio, ZmJnya Am{U A‘amdVr

20) Which of the following statements is not true ?

1) Ratnagiri, Sindhudurg and Kolhapur districts yield good discharge to dug-wells.

2) In Gadchiroli, Amravati, Chandrapur, Nagpur and Yavatmal districts, sandstones are jointed and

fractured and possess secondary porosity.

3) The older alluvium below 80 m in Amravati, Akola, Buldhana, Jalgaon and Dhule districts is

not very productive.

4) Dhule, Nagpur, and Amravati districts are highly productive due to the presence of

hydrogeological units such as Infratrappean, Bagh Beds and Lametas.

21) ŷOb àdmh ZH$memgmR>r dmnabobr Xwgar g§km Amho:
1) Am¶gmo-H$ZQy>a ZH$mem 2) Am¶gmon°M ZH$mem 3) âbm`S´m°{bH$ ZH$mem 4) nmoQ>|{Q>Amo‘o{Q´H$ ZH$mem

21) The other term used for groundwater flow map is :

1) Iso-contour map 2) Isopach map 3) Flydraulic map         4) Potentiometric map
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22) ẁ{ZQ> hm`S´moJ«m’$ {gÕm§VmMr ‘yb ŷV J¥hrVHo$ ................ AmhoV.
1) Zm°Z-bmBZa [añnm°Ýg Am{U Q>mB‘ BÝìho[aAÝg 2) Q>mB©‘ BÝìho[a §̀g Am{U aoIr` [añnm°Ýg
3) aoIr` à{VgmX Am{U aoIr` doi {^ÞVm 4) Zm°Z-{b{Z`a Q>mB‘ {^ÞVm Am{U aoIr` à{VgmX

22) The basic assumptions of the unit hydrograph theory are  ................

1) non-linear response and time invariance 2) time invariance and linear response

3) linear response and linear time variance 4) non-linear time variance and linear response

23) hm`S´moJ«m’$Mm AmH$ma (ZXrImoè¶mVrb Ob{dVaU) .......... Ûmao à^m{dV Amho
a) nmdgmMo EH$g‘mZ hdmB© {dVaU b) ~XbË`m nmdgmMr Vrd«Vm
c) ~o{gZMm AmH$ma d) dmXimÀ`m hmbMmbrMr {Xem
n¶m©¶r CÎmao …
1) a, b Am{U d 2) a Am{U b ’$º$ 3) a, b Am{U c 4) a, b, c Am{U d

23) The shape of Hydrograph is effected by .........

a) Non uniform aerial distribution of rainfall b) Varying rainfall intensity

c) Shape of the basin d) Direction of storm movement

Answer options :

1) a,b and d 2) a and b only 3) a,b and c 4) a, b,c and d

24) nma§nm[aH$ Ob{dÚwV H|$Ðm§gmR>r Imbrbn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV?
1) YaUmgh EH$ bmQ> H$j V`ma Ho$bm OmVmo
2) noZñQ>m°Šg YaUmVrb nmUr hm`S´m°{bH$ Q>~m©BZH$S>o nmohmoMdVmV.
3) EH$ S>mCZñQ´r‘ ~o{gZ dmnabm OmVmo.
4) gd© AnñQ´r‘ ~o{gZ n§qnJ ñQ>oeZÛmao dmnabo OmVo.

24) Which of the following statements in INCORRECT for conventional hydropower stations ?

1) A surge chamber is created with a dam

2) Penstocks convey the water from the dam towards hydraulic turbines.

3) A downstream basin is used.

4) All upstream basin is used through a pumping station.

25) ...... Am{U ...... À¶m g§¶wº$sH$aUmZo ~Zbobo ZXràmê$nmMo AmH$mambm ZXràmê$n Ago åhUVmV.
1) ZXr Vbmd 2) {h‘ZXr, Vbmd 3) ZXr, ghmæ¶H$ ZÚm 4) darbn¡H$s Zmhr

25) Drainage pattern refers to a design which ______ and its ______ form together.

1) river, lake 2) glacier, lake 3) river, tributaries 4) None of the above

26) Oo Zmbo CÝhmù`mV H$moaS>o nS>VmV Am{U Ë`mV ’$º$ nmdgmù`mV nmUr AgVo Ë`m§Zm ................ Ago åhUVmV.
1) AYyZ‘YyZ òUmao àdmh 2) H$moaS>o AmoT>o
3) nmdgmir Pao 4) ~ma‘mhr àdmh

26) Those streams which dry up in summer and contain water only during rainfall are known as  ................

1) Intermittent streams 2) Dry streams

3) Rainy streams 4) Perennial streams
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27) O{‘ZrÀ`m n¥ð>^mJmdarb q~Xy Am{U daÀ`m ŷObmÀ`m n¥ð>^mJmdarb ŷOb nmVir `m§À`mVrb Cä`m C§MrÀ`m ’$aH$mbm
............. åhUVmV:
1) Imobr Vo nmUr nmVir 2) ŷOb g‘Vwë` ’$aH$
3) nm`Pmo‘o{Q´H$ n¥ð>^mJ 4) EHy$U hm`S´m°{bH$ hoS> J«o{S> §̀Q>

27) The vertical elevation difference between a point on the ground surface and the groundwater level

at the top groundwater body is known as :

1) Depth to water level 2) Groundwater equipotential difference

3) Piezometric surface 4) Total hydraulic head gradient

28) Am{Q©>{g`Z pñWVr Aemdoir CØdVo Ooìhm .........
1) ObMa A{Z §̀{ÌV Amho
2) nmÊ`mMo Q>o~b Amho
3) nmÊ`mMo Vº$m O{‘ZrÀ`m nmVirnojm da Amho
4) nm`Pmo‘o{Q´H$ n¥ð>^mJ O{‘ZrÀ`m nmVirnojm da Amho

28) Artesian condition occurs when the :

1) Aquifer is unconfined

2) Water table is perched

3) Water table is above ground level

4) Piezometric surface is above ground level

29) 'àoea A°{¹$’$a' hm eãX g‘mZmWu eãXmgmR>r dmnabm OmVmo:
1) Agr{‘V ObMa 2) ~§{XñV ObMa
3) JiUmam ObMa 4) AmXe© ObMa

29) 'Pressure aquifer' is a term used synonymously for :

1) Unconfined Aquifer 2) Confined Aquifer

3) Leaky Aquifer 4) Idealized Aquifer

30) nmUbmoQ>mMr gd©gmYmaU ì`m»`m.......
1) Á`m ^mJmVyZ n¥ð>^mJmdarb nmUr Xwgè¶m àdmhmV dmhVo.
2) {Xboë`m àdmhmÀ`m q~Xyda àdmhmgmR>r àdmhmÀ`m KZVoVrb O‘rZ joÌ
3) {Xboë`m àdmhmV ñQ´r‘ SóZoO ZoQ>dH©$ Agbobo joÌ doJdoJù`m {XeoZo {ZMam H$ê$ eH$VmV.
4) gd© O{‘ZrMo joÌ Oo àdmh àUmbr‘Ü ò dmhÿZ OmVo, Ë`mÀ`m Vm|S>mVyZ daÀ`m ~mOybm OmVo Am{U Ë`m^modVr {d^mJUr

AgVo.
30) The general definition of a watershed.

1) The area by where surface water flows to another stream.

2) Land area in the streamflow density for flows at a given stream point

3) Areas with stream drainage network at a given stream can drain different direction.

4) All land area which drains into a stream system, upstream from its mouth and is surrounded

with a divide.



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 34

For Private Circulation Only

31) hm`S´mo-{O`moHo${‘ñQ´r åhUOo H$m`?
1) {df` àmXo{eH$ ŷJ ©̂emómÀ`m g§~§YmV n¥ð>^mJ Am{U n¥ð>^mJmdarb nmÊ`mÀ`m agm`Zemómer g§~§{YV Amho.
2) {df` n¥ð>^mJmdarb nmÊ`mÀ`m JwUm§er g§~§{YV Amho.
3) hm {df` I{ZOo Am{U IS>H$m§À`m ŷ-agm`Zemómer g§~§{YV Amho
4) hm {df` IS>H$ Am{U I{ZOm§À`m noQ´moHo${‘H$b Aä`mgmer g§~§{YV Amho

31) What is hydro-geochemistry ?

1) The subject deals with the chemistry of surface and subsurface water in relation to regional

geology.

2) The subject deals with surface water qualities.

3) The subject deals with geochemistry of minerals and rocks

4) The subject deals with petrochemical studies of rocks and minerals

32) àXoemVrb n¥ð>^mJ Am{U ŷn¥ð>mdarb ObàUmbrMo ‘yë`m§H$Z H$aÊ`mV Ob{dkmZ MH«$ H$moUVr ŷ{‘H$m ~OmdVo?
1) nO©Ý`d¥ï>r qH$dm nmD$g nS>Uo ~mînr^dZ, ~mînr^dZ n¥ð>^mJ-dmhUo ŷOb àdmh
2) n¥ð>^mJmdarb dmè`mMm àdmh-dZñnVr, KwgImoar
3) n¥ð>^mJ Am{U Cn-n¥ð>^mJmMo nmUr
4) O{‘ZrMm n¥ð>^mJ-KwgImoar, ŷ-Ob àdmh

32) What role does the hydrological cycle play in assessing surface and subsurface water system in

the region ?

1) Precipitation or rain fall Evaporation, Evapotranspiration Surface-runoff Groundwater flow

2) Surface run-off-Wind flow-Vegetation, infiltration

3) Surface and sub-surface water

4) Land surface-Infiltration, Ground-water flow

33) gd©gmYmaUnUo, ‘hmamï´> amÁ` ŷOb àm§VmMo {ZarjU: OwÝ`m Iwë`m {d{har `m H$maUm§‘wio H$moaS>çm nS>V AmhoV:
1) bmoH$ OwÝ`m ‘moH$ù`m {d{hatMm dmna H$moUË`mhr dmnamgmR>r H$aV ZmhrV
2) {d{har PmS>o, PwS>no PmS>m§Zr AmÀN>m{XV AmhoV
3) ñWm{ZH$ bmoH$m§H$Sy>Z {d{hatMr {Z`{‘V XoI^mb Ho$br OmV Zmhr
4) gÜ`mÀ`m OwÝ`m {d{hatÀ`m AJXr Odi A{V[aº$ ~moAadob ImoXë`m OmVmV

33) In General, Maharashtra state ground water province observed : old open wells are drying due to:

1) People are not utlising old open wells for any utlisation

2) Wells are covered by tree, shrubs vegetation

3) Wells are not m properly maintained regularly by local people

4) Additional bore wells are drilled close proximity to the existing old wells

34) ............ hm AmYma Amho Á`mÀ`m AmYmao ŷOb ì`dñWmnZmMo {Z`moOZ Ho$bo OmVo Á`mMm ObgmR>m da ZH$mamË‘H$
n[aUm‘ Z H$aVm H$mT>Vm òVmo.
1) ‘m{gH$ ŷOb CËnÞ 2) dm{f©H$ ŷOb CËnÞ
3) Am°naoeZb ŷOb CËnÞ 4) ŷOb CËnÞmMr Q> o̧$dmar

34) ............ is the basis on which groundwater management is planned with withdrawals that could be

made without negatively affecting the aquifer inventory.

1) Monthly ground water yield 2) Annual ground water yield

3) Operational ground water yield 4) Percentage of ground water yield
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35) H$moUVr H|$Ðr` ŷJ ©̂ gaH$mar g§ñWm {Z`{‘VnUo XoemÀ`m EHy$U ŷn¥ð>mdarb nmÊ`mMo Am°{S>Q> H$aVo?
1) H|$Ðr` ŷOb ‘§S>i 2) H|$Ðr` añVo g§emoYZ g§ñWm
3) ^maVmMo ŷd¡km{ZH$ gd}jU 4) Vob Am{U Z¡g{J©H$ dm ỳ Am`moJ

35) Which Central Ground Government Organization regularly audits the country's total subsurface water?

1) Central Ground Water Board 2) Central Road Research Institute

3) Geological Survey of INdia 4) Oil and Natural Gas Commission

36) IS>Va àXoemV EH$‘oH$m§À`m AJXr Odi {S´b Ho$bobo ~moAadob ................. .
1) ŷOb CËnmXZ dmT>dm
2) ŷOb CËnÞmda n[aUm‘
3) ŷOb CËnmXZmV H$moUVmhr ~Xb Zmhr
4) ŷOb CËnÞ H$‘r H$am Am{U Vo ñWm{ZH$ hm`S´mo{O`mobm°{OH$b H§${S>Q>moBZda Adb§~yZ Amho

36) Borewells drilled close to each other in hard terrain will ................. .

1) Increase ground water yield

2) Impact on ground water yield

3) No change in ground water yield

4) Reduce ground water yield and it depends upon local hydrogeological conditoins

37) Á`m ŷJ^u` {Z{‘©Vr‘Ü ò nmUr AgVo, Vo EH$m q~XynmgyZ Xwgè`m q~XyH$S>o àgm[aV hmoVo Am{U nwaogo ŷOb {‘iVo {Vbm
.............. åhUVmV.
1) Aë~oS>mo 2) E¹$m’$a 3) E¹$mŠbyS> 4) Aëha{dAb ’°Ýg

37) The geological formation that contains water, transmits it from one point to another, and yields

sufficient groundwater is called ..............

1) Albedo 2) Aquifer 3) Aquiclude 4) Alhrvial fans

38) ŷOb Imoè`mVrb nmÊ`mÀ`m gmaUrÀ`m pñWVrdarb MwH$sÀ`m {dYmZmMr `mXr H$am.
1) nmÊ`mMm {dgJ© nmÊ`mÀ`m nwZ ©̂aUmV g‘Vmob amIbm OmV Zmhr Voìhm nmÊ`mMo Vº$m ~XbVmo
2) Vbmd Am{U Q>mŠ`m§‘Ü ò nmUr gmYmaUnUo O{‘ZrÀ`m n¥ð>^mJmÀ`m da AgVo.
3) ŷOb Imoè`mV OmñV à‘mUmV nmUr gmoS>ë`mg nmÊ`mMo Vº$m H$‘r-A{YH$ à‘mUmV gnmQ> AgVmo.
4) OmñV à‘mUmV n§qnJ {d{hatÀ`m Odi nmÊ`mMr nmVir H$‘r Ho$br OmVo.

38) List out the false statement on water table conditions in groundwater basins.

1) The water table changes when discharge of water is not balanced with recharge of water

2) The water is generally above the land surface in a lakes and tanks.

3) The water table is more or less flat during excess with drawl in ground water basins.

4) The water table is lowered near high volume of pumping wells.

39) [aMmO©À`m g§X^m©V OmñV n§n Ho$ë`mZo ........ hmoD$ eH$Vo.
1) ŷOb nmVir dmT>Vo 2) {d{harMo nmUr A{YH$ ‘wº$nUo dmhÿ bmJVo.
3) ŷOb nmVir dmT>Vo. 4) Z¡amí`mMm e§Hy$ V`ma hmoB©b

39) Pumping too much in relation to recharge can result in ........

1) Ground Water table increases 2) Well water begins to flow more freely.

3) The level of ground water rises. 4) A cone of depression will form
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40) H$moUË`m loUr‘Ü ò nya, Imoao qH$dm nmPa Vbmd, àdmh dmT>dUo, I§XH$ Am{U ’$amo {gñQ>r‘ Am{U ŷObmÀ`m H¥${Ì‘
nwZ ©̂aUmgmR>r dmnaÊ`mV òUmao A{VqgMZ `m§Mm g‘mdoe hmoVmo?
1) WoQ> n¥ð>^mJ V§Ì 2) WoQ> Cn-n¥ð>^mJ V§Ì
3) n¥ð>^mJ Am{U Cn n¥ð>^mJ V§Ìm§Mo g§̀ moOZ 4) AàË`j V§Ì

40) Which category includes flooding, basins or percolation tanks, stream augmentation, ditch and

furrow systems, and over irrigation used for artificial recharge of groundwater ?

1) Direct surface techniques

2) Direct sub-surface techniques

3) Combination of surface and sub surface techniques

4) Indirect techniques

41)  àdmhmVyZ OmñVrV OmñV {dgO©ZmMm A§XmO KoÊ`mgmR>r Imbrbn¡H$s H$moUVm dmnabm OmV Zmhr?
1) {S>H$Ýg ’$m°å ẁ©bm 2) B§p½bg ’$m°å ẁ©bm 3) MoPr ’$m°å ẁ©bm 4) Imogbm ’$m°å ẁ©bm

41) Which of the following is not used to estimate maximum discharge through stream ?

1) Dickens formula 2) Inglis formula 3) Chezy formula 4) Khosla formula

42) Imbrbn¡H$s H$moUË`m àH$maÀ`m {~KmS>m§Zm ‘mVrÀ¶m YaUmMo g§aMZmË‘H$ An`e åhUyZ dJuH¥$V Ho$bo OmVo?
1) nm`m‘YyZ nmB©n Q>mH$Uo 2) VQ>~§XrMo gaH$Uo
3) AnñQ´r‘ Mohè`mMr Yyn 4) S>mCZñQ´r‘ Mohè`mMr Yyn

42) Which of the following types of failures is classified as a structural failure of an earth dam ?

1) Piping through foundation 2) Sliding of embankment

3) Erosion of upstream face 4) Erosion of downstream face

43) Imbrbn¡H$s H$moUVr pñà§H$ba qgMZ àUmbrMr ‘`m©Xm ‘mZbr OmVo?
1) JiVrMo ZwH$gmZ Xya hmoVo 2) bmJdS>rMo H$moUVohr joÌ Zï> hmoV Zmhr
3) `m nÕVr‘wio jma Imbr nS>VmV 4) doJdmZ dmao Vwfma qgMZmMm n°QZ© ~Xby eH$VmV.

43) Which of the following is considered as the limitation of sprinkler irrigation system ?

1) Seepage losses are eliminated 2) No cultivation area is lost

3) This method leaches down salts 4) High winds may distort sprinkler pattern

44)  {deofV… ~mJoVrb PmS>m§gmR>r Adb§~bobr nmUr {dVaU nÕV ................ hr Amho.
1) ~m°S>©a âbqS>J 2) MoH$ âbqS>J 3) ~o{gZ âbqS>J 4) O§Jbr nya

44) The water distribution method adopted specially for orchard trees is  ................

1) Border flooding 2) Check flooding 3) Basin flooding 4) Wild flooding

45) ZXrVrb Ajr` àdmh amIÊ`mgmR>r Imbrbn¡H$s H$moUVr ZXr ~m§Y~§{XñVr aMZm dmnabr OmVo?
1) {nMS> ~oQ> 2) J«mò Ýg 3) boìhrO 4) ‘mJ©Xe©H$ ~m§Y

45) Which of the following river training structures is used for maintaining axial flow in the river ?

1) Pitched Island 2) Groynes 3) Levees 4) Guide Bunds
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(7) Z¡g{J©H$ g§nÎmr d eoVr - dZo,  O{‘ZrMo àH$ma, à‘wI {nHo$
1) ^maVmV gm‘m{OH$ dZrH$aU H$m ©̀H«$‘ ............ ‘Ü ò gwê$ Pmbm.

1) 1950 2) 1960 3) 1965 4) 1970
1) InIndia, Social Forestry Programme began in .............

1) 1950 2) 1960 3) 1965 4) 1970

2) ^maVmV Ydb H«$m§Vrbm gwédmV .............  gmbmnmgyZ H$aÊ¶mV Ambr.
1) 1971 2) 1972 3) 1973 4) 1974

2) White revolution started in India from _______ year.

1) 1971 2) 1972 3) 1973 4) 1974 i

3) M°pån¶Z Am{U goR> ¶m§À¶m dJuH$aUmZwgma ‘hmamï´> amÁ¶mV O§JbmMo {H$Vr à‘wI àH$ma AmhoV?
1) 6 2) 5 3) 4 4) 3

3) As per the Champion and Seth’s classification, how many major types are present in Maharashtra?

1) 6 2) 5 3) 4 4) 3

4) amï´>r` CÚmZo Ë`m§À`m amÁ`mer Owidm :
a) ~m§YdJS> amï´>r` CÚmZ i)  CÎma àXoe
b) XMrJ‘ amï´>r` CÚmZ ii)  npíM‘ ~§Jmb
c) XwYdm amï´>r` CÚmZ iii)  ‘Ü` àXoe
d) gw§Xa~Z amï´>r` CÚmZ iv)  Oå‘y Am{U H$mí‘ra
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (iv) (iii) (i) (ii)

4) Match the National Parks with their State :

a) Bandhavgarh National Park i) Uttar Pradesh

b) Dachigam National Park ii) West Bengal

c) Dudhwa National Park iii) Madhya Pradesh

d) Sundarban National Park iv) Jammu and Kashmir

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (iv) (iii) (i) (ii)
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5) X{jUr CîUH${Q>~§Yr` AmÐ© gXmh[aV O§Jbo ............ ¶oWo AmT>iVmV.
a) ‘hmamï´> b) H$Zm©Q>H$ c) Ho$ai d) A§X‘mZ
n¶m©¶r CÎmao …
1) (a), (b)Am{U (c) 2) (a), (b), (c)  Am{U (d) 3) ’$º$ (c) 4) ’$º$  (d))

5) Southern Tropical Wet Evergreen forests are found in .............

a) Maharashtra b) Karnataka c) Kerala d) Andamans

Answer options :

1) (a), (b) and (c) 2) (a), (b), (c) and (d) 3) Only (c) 4) Only (d)

6) n§Om~À`m eoVH$è`m§Zr H¥$fr-dZmoËnmXZ nÕVr A§VJ©V àmYmÝ` {Xbobr d¥jàOmVr ............ hr Amho.
1) nm°ß ẁbg 2) AmQ>m}H$mn©g 3) H$mOy 4) Am§~m

6) The tree species preferred by farmers of Punjab under agri-silviculture system is ................

1) Populus 2) Artocarpus 3) Cashew 4) Mango

7)  ^maVmVrb à‘wI bmHy$S>-CËnmXH$ dZñnVt‘Ü ò ........... g‘m{dï> Amho.
1) AH«$moS> 2) XodXma 3) nm§T>am {dbmo 4) darb gd©

7) The principal timber-yielding plants of India include :

1) Walnut 2) Deodar 3) White willow 4) All of the above

8) H$moUË¶m d¥jmbm gm‘mÝ`V… ^maVr` E~moZr Ago åh§Q>bo OmVo Am{U Ë`mMr nmZo ^maVmVrb nma§nm[aH$ {gJmaoQ> ~rS>r
({~S>r) V`ma H$aÊ`mgmR>r dmnabr OmVmV ?
1) AOw©Z  2) V|Xy 3) ~m ŷi 4) I¡a

8) ............... tree, commonly also called Indian ebony, the leaves of which are used in the manufacture

of beedis (bidis), the traditional cigarette of India.

1) Arjuna 2) Tendu 3) Babul 4) Khair

9) ImOU dZm§À¶m ~m~VrV Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
a) hr dZo ^aVr-AmohmoQ>rÀ¶m nmÊ¶mÀ¶m nmVir Xaå¶mZ AgVmV.
b) ¶m dZm§Vrb PmS>m§Zm 'gw§Xar' Ago åhUVmV.
c) ¶m PmS>m§À¶m gmbtnmgyZ Q>°qZJ {‘iVo.
d) ¶m dZm§Mo g§dY©Z H$aUo JaOoMo Amho.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) ’$º$ 2) (b), (c) Am{U (d) ’$º$
3) (a), (b) Am{U (d) ’$º$ 4) (a), (b), (c) Am{U (d)

9) In relation to Mangrove forest, which of the following statements are true ?

a) This forest are found in between high tide and low tide levels.

b) The trees in this forest are called ‘Sundari’.

c) Tanning is obtained from the bark of these trees.

d) There is a need of conservation of this forest.

Answer options :

1) Only (a), (b) and (c) 2) Only (b), (c) and (d)

3) Only (a), (b) and (d) 4) (a), (b), (c) and (d)
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10) S>m¶Q>moH$m°n©g, H$m{¶¶m Am{U ‘ogwAm (Dipterocarpus, Kayea, Mesua ) ¶m àOmVr ........ dZm‘Ü¶o AmT>iVmV.
1) CîUH${Q>~§Yr` Amobo gXmh[aV 2) AmÐ© nmZPS>r
3) AënmBZ PwSw>no 4) H$mQ>m

10) The Dipterocarpus, Kayea and Mesua species are the components of ................ forest type.

1) Tropical Wet Evergreen 2) Moist Deciduous

3) Alpine Scrub 4) Thorn

11) H$moaS>çm AënmBZ ñH«$~ ’$m°aoñQ>‘Ü ò ............... dZñnVr AmT>iVmV.
1)  ~wQ>³¶m> PwSy>nm§gh {Pamo’$mB{Q>H$ 2) ~wQ>³¶m> PwSy>nm§gh ‘ogmo{’${Q>H$
3) C§M PwSy>nm§gh {Pamo{’${Q>H$ 4) C§M PwSy>nm§gh ‘ogmo{’${Q>H$

11) Dry Alpine Scrub forest consists of ...............

1) xerophytic formation with dwarf shrubs 2) mesophytic¢ formation with dwarf shrubs

3) xerophytic formation with tall shrubs 4) mesophytic formation with tall shrubs

12) gpÀN>ÐVm (n%), hdoMo à‘mU  (a
c
%) Am{U Q> o̧$dmar dm ẁ eyÝ`Vm  (na%) ̀ m§À`mVrb g§~§Y ......... Ûmao {Xbobm Amho.

1) n = n 
a
 a 

c
2)  a

 c
 = n n

 a
3) n

a
, = n.ac 4) a

c
, = n-n

a

12) The relationship between porosity (n%), air content (a
c
%) and percentage air voids (na%)is given

by ..........

1) n = n 
a
 a 

c
2) a

 c
 = n n

 a
3) n

a
, = n.ac 4) a

c
, = n-n

a

13) ^maVmVrb H$moUË`m ^mJmV ñWbm§V[aV eoVr Ho$br OmVo?
1) nyd© {h‘mb` joÌ 2) npíM‘ {h‘mb` joÌ
3) ImbÀ`m J§JoMo g‘Vb 4) npíM‘ nR>ma Am{U S>m|Jami àXoe

13) In which part of India shifting cultivation is practiced ?

1) Eastern Himalayan zone 2) Western Himalayan zone

3) Lower gangetic plane 4) Western Plateau and hill region

14) doXS>©> b°Q>amBQ>‘Ü ò ‘w»`V… .......... g‘m{dï> Amho:
1) A°ë ẁ{‘Zm, bmoh, ‘±JZrO Am{U Q>m`Q>°{Z`‘ 2) A°ë ẁ{‘Zm, MwZIS>r, ‘±JZrO Am{U bmoh
3) AëH$br, MwZm, ‘°¾o{e`‘ Am{U Q>m`Q>°{Z`‘ 4) A°ë ẁ{‘Zm, bmoh Am{U MwZm

14) Weathered laterite mostly contains :

1) alumina, iron, manganses and titanium 2) alumina, limestone, manganese and iron

3) alkalies, lime, magnesium and titanium 4) alumina, iron and lime

15) OJmVrb n{hbr bmJdS> Ho$bobr {nHo$ ........... hr AmhoV.
1) Jhÿ Am{U Vm§Xyi 2) Jhÿ Am{U ~mbu 3) Jhÿ Am{U ‘H$m 4) Jhÿ Am{U Ádmar

15) The first cultivated crops in the world are

1) Wheat and Rice 2) Wheat and Barley 3) Wheat and Maize 4) Wheat and Sorghum

16) 2020-21 ‘Ü ò ‘hmamï´> amÁ`mV Ë`m§À`m bmJdS>rImbrb joÌmÀ`m CVaË`m H«$‘mZo {nH$m§Mm `mo½` H«$‘ H$m` Agob?
1) gmò m~rZ, H$mnyg, ^mV, Ádmar 2) H$mnyg, gmò m~rZ, ^mV, Ádmar
3) H$mnyg, gmò m~rZ, Ádmar, YmZ 4) ^mV, H$mnyg, gmò m~rZ, Ádmar
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16) What would be the correct sequence of crops in the descending order of their area under cultivation

in Maharashtra State in 2020—21 ?

1) Soybean, Cotton, Paddy, Jowar 2) Cotton, Soybean, Paddy, Jowar

3) Cotton, Soybean, Jowar, Paddy 4) Paddy, Cotton, Soybean, Jowar

17) ~mOar~m~V Imbrbn¡H$s H$moUVo {dYmZ gË` Zmhr?
1) AZoH$ Xoem§‘Ü ò Ë`mMr bmJdS> H$‘r hmoV Amho
2) Ë`m§À`mH$S>o hdm‘mZ ~Xb Am{U AÞgwajobm Vm|S> XoÊ`mMr j‘Vm Amho
3) Ë`m§À`m godZmZo H$H©$amoJ ~am hmoÊ`mg ‘XV hmoVo
4) Vo H$‘r BZnwQ>‘Ü ò dmT>dVm òVmV

17) Which of the following statements regarding millet is not true ?

1) Its cultivation is declining in many countries

2) They have potential to address climate change and food security

3) Their consumption helps in curing cancer

4) They can be grown with fewer inputs

18) Imbrbn¡H$s H$moUË`m {nH$m‘Ü ò O{‘ZrÀ`m ImbÀ`m WamVrb Amobmdm emofÊ`mMr CnOV JwUdÎmm AgVo Am{U Vo
Amobmdm VUmd (XwîH$mi) ghZerb AgVmV, VgoM Ë¶m§Mo nO©Ý¶mYm[aV ñdénmÀ¶m eoVrV  Mm§Jbo CËnmXZ hmoVo ?
A) V¥UYmÝ ò ~) H$S>YmÝ ò H$) Vob {~`m S>) ’$m`~a {nHo$
n`m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ 3) ~ Am{U S> ’$º$ 4) H$ Am{U S> ’$º$

18) Which of the following crops have an inherent quality to trap the moisture from lower strata of

the soil and they are considerably moisture stress (drought) tolerant and fits well in rainfed

environment ?

a) Cereals b) Pulses c) Oil seeds d) Fibre crops

Answer options :

1) a only 2) b only 3) b and d only 4) c and d only

19) O‘rZ dmnamMo {Z`moOZ ‘w»¶Îdo ¶mda ^a XoVo :
1) Am¡Úmo{JH$ ì`mdgm{`H$ joÌo 2) {Zdmgr joÌo
3) O§Jb, nrH$ Am{U XbXbrMr O‘rZ 4) nm`m ŷV joÌ

19) Land use planning primarity deals with :

1) Industrial commercial areas 2) Residential areas

3) Forest, crop and swamp land 4) Infrastructural areas

20) O{‘ZrMr Yyn amoIÊ`mgmR>r ^maVmV Imbrbn¡H$s H$moUË`m H¥$fr nÕVtMm dmna Ho$bm OmVmo?
1) nmD$g nS>Uo KwgImoar, ~mînr^dZ Cnm` 2) H«$m°n amoQ>oeZ, g‘moƒ AmÀN>mXZ eoVr Am{U dZrH$aU
3) aZ Am°’$ [aS>ŠeZ, Q|́qMJ, H§$Qy>a ~§qS>J Cnm` 4) H§$Qy>a ~§qS>J, Q>oaoqgJ, ‘w„m ~§qS>J

20) Which of the following agronomic practices in India is being used to prevent land erosion ?

1) Rain fall Infiltration, evapotranspiration measure

2) Crop rotation, contour-cover farming, and afforesation

3) Run off reduction, trenching, contour bunding measures

4) Contour bunding, Terracing, mullah bunding
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21) A{^`m§{ÌH$s eoVr Am{U H$ìha H«$m°qnJMr `mXr AmoiIm :
1) H«$m°n amoQ>oeZ H§$Qy>a ’$m{‘ªJ Am{U H$ìha H«$m°qnJ 2) nmUr KwgImoar, nmUr gmMÊ`mMo Cnm`.
3) H§$Qy>a ~§qS>J, H$m°ÝQy>a Q|́qMJ Am{U Q>oaoqgJ 4) nO©Ý`d¥ï>r ~§X, dZrH$aU

21) List out the engineering farming and cover cropping .......

1) Crop rotation contour farming and cover cropping

2) Water infilitarison, water logging measures.

3) Contour bunding, contour trenching, and terracing

4) Rainfall-run off, afforesation

22) J„r H«$m°qnJ Amho:
a) hoOJ«mo Am§VanrH$ åhUyZhr Vo AmoiIbo OmVo
b) PnmQ>çmZo dmT>Umar, eŠ`Vmo EZ-{’$pŠg§J PmS>o qH$dm PwSw>no amIyZ R>odUo
c) ’$º$ CîUH${Q>~§Yr` àXoemV gamd Ho$bm OmVmo
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ (a) 2) Onl (b) 3) ’$º$ (c) 4) ’$º$ (a) Am{U (b)

22) Alley cropping is:

a) also known as hedgerow intercropping

b) retaining fast-growing, preferably N-fixing trees or shrubs

c) practiced only in tropical regions

Which of the above is/are correct ?

1) Only (a) 2) Only  (b) 3) Only (c) 4) Only (a) and (b)

23) Am§Yir ‘emJV åhUOo O{‘ZrMr Aer ‘emJV  ..........
1) nrH$ noaë`mZ§Va qH$dm bmJdS> Ho$ë`mZ§Va; EH$Va nrH$ dZñnVtÀ`m CX`mnyduÀ`m Q>ßß`mda qH$dm Vo dmT>rÀ`m

gwédmVrÀ`m Q>ßß`mV AgVmZm
2) nrH$ noaÊ`mnydu qH$dm bmJdS> H$aÊ`mnydu
3) EH$mM doir nrH$ noaVmZm qH$dm bmJdS> H$aVmZm
4) darbn¡H$s H$mhrhr Zmhr

23) Blind tillage refers to the tillage of the soil ..........

1) After seeding or planting the crop; either at pre-emergence stage of crop plants or while they

are in early stages of growth

2) Before seeding or planting the crop

3) Simultaneously at seeding or planting the crop

4) None of the above

24) Pwq‘J bmJdS>r‘Ü ò -
a) O‘rZ {’$adbr OmVo nU nrH$ R>abobo b) dfm©Zwdf} VoM nrH$ KoVbo OmVo
c) Ë`m‘wio ‘mVrMr Yyn hmoVo d) O{‘ZrMr CËnmXH$Vm Zï> hmoVo
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d
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24) In Jhumming cultivation -

a) Land is rotated but crop is fixed b) Same crop is grown year after year

c) It causes soil erosion d) Soil productivity is lost

Which of the above statement/s is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

25) .......... eoVmV dmnaë`m OmUmè`m nrH$ nÕVr Am{U eoVr g§gmYZo, BVa eoVr CnH«$‘ Am{U Ë`m§Mr aMZm R>adUmao
CnbãY V§ÌkmZ `m§À`mer Ë`m§Mm g§dmX Xe©dVmo.
1) eoVr nÕVr 2) eoVr CÚmoJ 3) {‘l eoVr 4) nrH$ nÕVr

25) ..........represents cropping patterns used on a farm and their interaction with farm resources, other

farm enterprises and available technology which determine their make up.

1) Farming system 2) Farm enterprises 3) Mixed farming 4) Cropping system

26) àM{bV H¥$fr-hdm‘mZ Am{U gm‘m{OH$-Am{W©H$ n[apñWVrZwgma EImÚm àXoe qH$dm n[agamV {d{dY {nHo$ Á`m H«$‘mZo
KoVbr OmVmV Ë`mbm .......... Ago åhUVmV.
1) nrH$ nÕVr 2) nrH$ nÕVr 3) eoVr nÕV 4) emídV eoVr

26) The sequence in which various crops are grown in a region or a locality in accordance with

prevailing agro-climatic and socio-economic conditions is known as .........

1) Cropping system 2) Cropping pattern

3) Farming system 4) Sustainable agriculture

27) ........... ñdénmÀ¶m nrH$nÕVrV ñnog Am{U Q>mB‘ `m XmoÝhrÀ¶m g§X^m©V, nrHo$$ nañnanyaH$[aË¶m KoVbr OmVmV.
1) [abo H«$m°qnJ 2) AZwH«$‘ H«$m°qnJ
3) A°{Z‘oeZ 4) A°{ZS>oeZ

27) ........... refers to complementary interaction which occurs both in space and time.

1) Relay cropping 2) Sequence cropping

3) Annimation 4) Annidation

28) ......  ‘Ü¶o O{‘ZrÀ`m {d{dY dmnam§Mm g‘mdoe Amho, OoWo d¥jmÀN>m{XV àOmVr dZm¡fYr {nH$m§gh EH$mM doir qH$dm
H$m{bH$ H«$‘mZo dmT>VmV.
1) gm‘m{OH$ dZrH$aU 2) dwS>r dZrH$aU 3) H¥$fr dZrH$aU 4) KZXmQ> dZrH$aU

28) ...... includes a variety of land uses, where woody species are grown in combination with herbaceous

crops, either at the same time or in time sequence.

1) Social forestry 2) Woody forestry 3) Agroforestry 4) Dense forestry

29) JwOamV Am{U amOñWmZ amÁ`m§‘Ü ò AmT>iUmè¶m Jwam§À¶m ......... ¶m OmVrMr Mmb  ''gdmB© Mmb'' ¶m ZmdmZo AmoiIbr
OmVo.
1) H$m§H$aoO 2) Jra 3) amR>r 4) WmanmaH$a

29) The cattle breed found in the States of Gujarat and Rajasthan which has a peculiar gait known as

“Sawai Chal” is :

1) Kankrej 2) Gir 3) Rathi 4) Tharparkar
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(8) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo,  dmhVyH$ Am{U n ©̀Q>Z, CÚmoJ, ehao
1) Imbrbn¡H$s H$moUVm H$m`Xm ã ẁamo Am°’$ EZOu B{’${e`Ýgr (BEE)  Mr ñWmnZm Am{U g‘mdoe H$aÊ`mMr VaVyX

H$aVmo?
1) D$Om© g§dY©Z H$m`Xm, 2001 2) D$Om© g§dY©Z H$m`Xm, 2002
3) D$Om© g§dY©Z H$m`Xm, 2010 4) D$Om© g§dY©Z H$m`Xm, 2011

1) Which of the following Acts provides for the establishment and incorporation of the Bureau of

Energy Efficiency (BEE) ?

1) Energy Conservation Act, 2001 2) Energy Conservation Act, 2002

3) Energy Conservation Act, 2010 4) Energy Conservation Act, 2011

2) ‘hm‘mJ© {Z`moOZmÀ`m Q>ßß`m§~Ôb Imbrb {dYmZo {dMmamV ¿`m:
a) {d{eï> joÌmgmR>r añË`mÀ`m bm§~rÀ`m Amdí`H$VoMo ‘yë`m§H$Z.
b) n§Mdm{f©H$ `moOZm qH$dm dm{f©H$ `moOZoVrb Q>ßnm Xe©{dUmam ‘mñQ>a ßb°Z V`ma H$aUo.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (a) ~amo~a Amho. 2) ’$º$ (b) ~amo~a Amho.
3) (a) qH$dm (b) ~amo~a ZmhrV. 4) (a) Am{U (b)  XmoÝhr ~amo~a AmhoV.

2) Consider the following statements about phases of highway planning :

a) Assessment of requirement of road length for an area.

b) Preparation of Master Plan showing the phasing in Five Year Plan or annual plan.

Which of the above statements is/are correct ?

1) Only (a) is correct. 2) Only (b) is correct.

3) Neither (a) nor (b) are correct. 4) Both (a) and (b) are correct.

3) OmoS>r Owidm (añVo {dH$mgmÀ¶m g§X^m©V):
a) O`H$a g{‘Vr i)  1934
b) IRC {Z{‘©Vr ii) 1952
c) CRRI ñWmnZm iii)  1956
d) NH H$m`Xm iv) 1927
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iv) (i) (iii)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (ii) (iii)

3) Match the pair :

a) Jayakar Committee i) 1934

b) IRC formation ii) 1952

c) CRRI Establishment iii) 1956

d) NH Act iv) 1927
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Answer options:

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iv) (i) (iii)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (ii) (iii)

4) amo-amo dmhVwH$sMr gwédmV ^maVmV gd©àW‘ H$moUË¶m aoëdo‘mJm©da Pmbr?
1) CÎma-nyd© gr‘m§V aoëdo‘mJ© 2) X{jU aoëdo‘mJ©
3) H$moH$U aoëdo‘mJ© 4) nyd© aoëdo‘mJ©

4) The row-row transportation started firstly in India on which railway route ?

1) North Eastern border railway route 2) Southern railway route

3) Konkan railway route 4) Eastern railway route

5) ^maVmVrb bmoh-nmobmX CÚmoJ d ñWmnZm df© ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
          bmoh-nmobmX CÚmoJ ñWmnZm df©
a) ~§Jmb Am¶Z© A°ÊS> ñQ>rb H§$nZr i) 1874
b) Q>mQ>m Am¶Z© A°ÊS> ñQ>rb H§$nZr ii) 1907
c) B§S>r¶Z Am¶Z© A°ÊS> ñQ>rb H§$nZr iii) 1919
d) åh¡gya Am¶Z© A°ÊS> ñQ>rb H§$nZr iv) 1923
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (iv) (iii) (i)

4) (i) (ii) (iii) (iv)

5) Match the correct pairs of Iron and Steel Industry and its establishment year in India :

Iron and Steel Industry Establishment Year

a) Bengal Iron and Steel Industry i) 1874

b) Tata Iron and Steel Industry ii) 1907

c) Indian Iron and Steel Industry iii) 1919

d) Mysore Iron and Steel Industry iv) 1923

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (iv) (iii) (i)

4) (i) (ii) (iii) (iv)

6) 20 dfmªÀ`m {Vgè¶m añVo `moOZoV, amï´>r` ‘hm‘mJmªMr bm§~r hr XoemÀ`m joÌ’$img ....... Zo ^mJyZ {Z{eV Ho$br Jobr.
1) 20 2) 25 3) 50 4) 75

6) A s per 3rd 20 Year Road Plan, the length of National Highways is given by area of country divided

by ...........

1) 20 2) 25 3) 50 4) 75
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7) 31 {S>g|~a 2022 amoOr ^maVmVrb Ordmí‘ B§YZmnmgyZ EHy$U drO {Z{‘©Vr  ............ Amho:
1) 46,850 ‘oJmdm°Q> 2) 1,67,750  ‘oJmdm°Q> 3) 1,74,530 ‘oJmdm°Q> 4) 2,35,809 ‘oJmdm°Q>

7) Total electricity produce from fossil fuels in India, as on 31 December 2022 is :

1) 46,850 megawatts 2) 1,67,750 megawatts

3) 1,74,530 megawatts 4) 2,35,809 megawatts

8) Am{W©H$ df© 2021 ‘Ü ò ^maVmVrb CÚmoJm§Zr dmnaboë`m {dÚwV CO}Mr Q> o̧$dmar .......... hmoVr:
1) 51% 2) 46% 3) 41% 4) 36%

8) The percentage of electrical power consumed by industries in India in the financial year 2021

was :

1) 51% 2) 46% 3) 41% 4) 36%

9) Imbrbn¡H$s H$moUVm JQ> 'Am¡pîUH$ D$Om©' àH$ënmer g§~§YrV Amho?
1) ŵgmdi, Zm{eH$, CaU 2) Q´>må~o, S>hmUy, OiJmd
3) Vmamnya, CaU, R>mUo 4) M§Ðnya, H$mH«$mnmam, ŵgmdi

9) Which of the following groups is associated with “Thermal Power’’ plant ?

1) Bhusawal, Nashik, Uran 2) Trombe, Dahanu, Jalgaon

3) Tarapur, Uran, Thane 4) Chandrapur, Kakrapara, Bhusawal

10) ¶mo½¶ OmoS>çm Owidm
amÁ¶         n¶©Q>Z ñWi

a. Oå‘y d H$mí‘ra i. VaU VmaU, ~m~m ~H$mbm
b. {h‘mMb àXoe ii. A§~mbm, ^S>H$b gamoda
c. n§Om~ iii. Ad§Vrnya, AMbrJmoånm
d. h[a¶mUm iv. {ÌbmoH$ZmW, Z¡ZmXodr
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iii) (iv) (ii) (i)

4) (iv) (iii) (i) (ii)

10) Match the following :

    State        Tourist Centre

a. Jammu and Kashmir i. Taran Taran, Baba Bakala

b. Himachal Pradesh ii. Ambala, Bhadkal lake

c. Punjab iii. Avantipur, Alachigonpa

d. Haryana iv. Triloknath, Nainadevi

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iii) (iv) (ii) (i)

4) (iv) (iii) (i) (ii)
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11) ¶mo½¶ OmoS>çm Owidm :
Am¡pîUH$ drO H|$Ð     {Oëhm

a. H$moamS>r i. R>mUo
b. nmag ii. ZmJnya
c. CaU iii. OiJm§d
d. ’o$H$ar iv. AH$mobm
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (iii) (i)

4) (ii) (iv) (i) (iii)

11) Match the following :

Thermal Power StationDistrict

a. Koradi i. Thane

b. Paras ii. Nagpursibnl ci vit

c. Uran iii. Jalgaon

d. Fekari iv. Akola

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (iii) (i)

4) (ii) (iv) (i) (iii)

12) Imbrbn¡H$s H$moUVr {dYmZ/{dYmZo AMyH$ Amho/AmhoV?
a) ~m°³gmB©Q>Mm dmna ‘w»¶V… A°ë¶w{‘{Z¶‘ {Z{‘©VrgmR>r Ho$bm OmVmo.
b) ñnoZ Am{U OnmZ ho ^maVmVyZ ~m°³gmB©Q>Mr gdm©{YH$ Am¶mV H$aUmao Xoe AmhoV.
c) Amo{S>emMm ~m°³gmB©Q>À¶m CËnmXZmV ^maVmV àW‘ H«$‘m§H$ bmJVmo.
d) H$moëhmnya, aËZm{Jar, gmVmam, R>mUo ho ‘hmamï´>mVrb ~m°³gmB©Q> CËnmXZ H$aUmao {Oëho AmhoV.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a), (c) Am{U (d) 4) darb gd©

12) Which of the following statements is/are correct ?

a) Bauxite is used mainly for the production of aluminium.

b) Spain and Japan are the largest importers of Indian bauxite.

c) Odisha stands first in the production of bauxite in India.

d) Kolhapur, Ratnagiri, Satara, Thane are the bauxite producing districts of Maharashtra.

Answer options :

1) Only (a) 2) Only (b) and (c) 3) (a), (c) and (d) 4) All of the above
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13) npíM‘ amOñWmZmÀ¶m àXoemV MwZIS>H$, {Oßg‘ Am{U I{ZO {‘R>mMo gmR>o {dV[aV Pmcoco AmhoV.
Imcrcn¡H$s H$moUVr H$maUo ¶m I{ZOm§À¶m gmR>çm§À¶m {dVaUmg H$maUr ŷV AmhoV ?
a. n‘m}H$m~m}{Z’o$ag ¶wJmV npíM‘ amOñWmZMm ^mJ g‘wÐmÀ¶m nmÊ¶mImcr hmoË¶m.
b. npíM‘ amOñWmZmÀ¶m àXoemV nO©Ý¶mMo à‘mU H$‘r Amho.
c. npíM‘ amOñWmZmÀ¶m àXoemV hdm‘mZ CîU d H$moaS>o Amho.
d. npíM‘ amOñWmZmÀ¶m àXoemV dZmÀN>mXmZm Imcrc joÌ AË¶ën Amho.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a Amho 2) a ’$º$ Am{U b ~amo~a AmhoV
3) a, b Am{U c ~amo~a AmhoV 4) ’$º$ d ~amo~a AmhoV

13) In the western part of Rajasthan minerals like limestone, gypsum and mineral salts reserves are

distributed. Which of the following reasons are responsible for this occurrence ?

a. Western part of Rajasthan was submerged under sea water during permocarboniferous period.

b. Western part of Rajasthan receives low rainfall.

c. Western part of Rajasthan has hot and dry climate.

d. In the western part of Rajasthan the area under vegetation is very low.

Answer Options :

1) only a is correct 2) only a and b are correct

3) a, b and c are correct 4) only d is correct

14) Imcrcn¡H$s H$moUË¶m ‘¥XoV cmoh d ~m°³gmB©Q> I{ZOmMo à‘mU A{YH$ AgVo ?
1) Vm§~S>r ‘¥Xm 2) aoJya ‘¥Xm 3) Om§̂ r ‘¥Xm 4) JmimMr ‘¥Xm

14) Which of the following soil contain the maximum proportion of iron and bauxite minerals ?

1) Red soil 2) Regur soil 3) Laterite soil 4) Alluvial soil

15)  dYm© H$moigm joÌ ........... ñdénmMo Amho:
1) ~«m°S> qgH$bmBZ ßb§qOJ  SSW 2) ~«m°S> A±{Q>ŠbmBZ ßb§qOJ  SSE

3) ~«m°S> A±{Q>ŠbmBZ ßb§qOJ  NNE 4) ~«m°S> A±{Q>ŠbmBZ ßb§qOJ  NNW

15) Wardha coal field is a :

1) broad syncline phunging SSW 2) broad anticline plunging SSE

3) broad anticline plungine NNE 4) broad anticline plunging NNW

16) H$mJX CÚmoJmMo dJuH$aU........... Ago Ho$bo OmVo.
a) H$mJX Am{U H$mJX ~moS>© (’$bH$) b) n|T>m ’$bH$ Am{U BVa ’$bH$
c) Ý¶yOqàQ> d) {g³¶w[aQ>r nona
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (a), (b) Am{U (d) 4) darb gd©

16) The Paper Industry is divided into the following categories :

a) Paper and paper board b) Straw board and other board

c) News print d) Security paper

Which of the statements given above are correct ?

1) (a)and (b) 2) (c) and (d) 3) (a), (b) and (d) 4) All of the above
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17) CÚmoJmÀ¶m ñWmZ {ZpíMVr H$aVmZm Amë’«o$S> do~a ¶m§Zr Imcrcn¡H$s H$moUË¶m KQ>H$mMo ‘hËd Amnë¶m {gÕm§VmV {gÕ
H$aÊ¶mMm à¶ËZ Ho$cm Amho ?
1) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV ‘Owam§darc ‘yë¶m Mo ¶moJXmZ ‘hÎdmMo AgVo.
2) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV H$ÀÀ¶m ‘mcmdarc IMm©Mo ¶moJXmZ ‘hÎdmMo AgVo.
3) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV ~mOmanoR>oMr gwJ‘Vm ‘hÎdmMr AgVo.
4) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV dmhVyH$ IMm©Mo ¶moJXmZ ‘hÎdmMo AgVo.

17) In his theory of industrial location Alfred Weber tried to establish the pivotal role of which of the

following factors ?

1) Labour cost plays a pivotal role in the selection of industrial location

2) Cost of raw material plays a pivotal role in the selection of industrial location

3) Market accessibility plays a pivotal role in the selection of industrial location

4) Transport cost plays a pivotal role in the selection of industrial location

18) Imcrc XmoZ  {dYmZo {Xcr AmhoV Ë¶mn¡H$s (A) ho à{VnmXZ AgyZ  (R)  ho Ë¶mMo H$maU Amho. {Xcoë¶m n¶m©¶mVyZ ~amo~a
CÎma {ZdS>m.
A) H$mnyg hm dOZ Z KQ>Umam ewÕ H$ƒm ‘mc Amho, {edm¶ Vmo hcH$m d {Q>H$mD$ Amho.
R) gwVr H$mnS> CÚmoJmMo ñWm{ZH$sH$aU H$mnyg CËnmXH$ àXoe qH$dm ~mOmanoR> ¶m {R>H$mUr hmoVo.
n¶m©¶r CÎmao …
1) (A)  Am{U (R) XmoÝhr ~amo~a AmhoV Am{U (R)  ho (A) H Mo Iao ñnï>rH$aU Amho
2) (A)  Am{U (R) XmoÝhr ~amo~a AmhoV na§Vw  (R)  ho (A)  Mo Iao ñnï>rH$aU Zmhr.
3) (A) ho ~amo~a Amho nU (R)  ho MyH$ Amho.
4) (A) ho MyH$ Amho nU (R)  ho ~amo~a Amho

18) Given below are two statements one labeled as Assertion (A) and other labeled as Reason (R).

Select correct answer from the options given below.

A) Cotton is not a weight lossing pure raw material, besides is light in weight and durable.

R) The localization of the cotton textile is found either in cotton producing region or near

market.

Answer Options :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3) (A) is true but (R) is false

4) (A) is false but (R) is true

19) ñQ>r‘ nm°da ßbm§Q>gmR>r OmJm {ZdS>m`Mr Agë`mg Imbrbn¡H$s H$moUVr AQ> MwH$sMr Amho?
1) B§YZ ñQ>oeZ ßbm§Q> Odi Agmdo
2) B§YZ ñQ>oeZ ZXrH$mR>À`m Odi pñWV AgUo Amdûm`H$ Amho
3) B§YZ H|$Ð bmoH$dñVrÀ`m joÌmOdi AgUo Amdí`H$ Amho.
4) amon bmoS> H|$ÐmOdi R>odmdo.
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19) Which of the following conditions is INCORRECT when a site is to be selected for a steam

power plant ?

1) The fuel station should be near the plant

2) The fuel station must be positioned near a riverbank

3) The fuel station must be located near populated areas.

4) The plant should be placed near load centres.

20) ñQ>r‘ nm°da ñQ>oeZMm Imbrbn¡H$s H$moUVm ’$m`Xm Amho?
1) ñQ>r‘ nm°da ßbm§Q>Mo Am ẁî` Am{U n[aUm‘H$maH$Vm g§{já Amho.
2) drO {Z{‘©VrMm IM© OmñV Amho
3) H$‘r àma§{^H$ Jw§VdUyH$ Am{U ßbm§Q> Mmby H$aÊ`mgmR>r H$‘r doi bmJVmo.
4) H$moigm hiyhiy dmnaë`m‘wio g§nwï>mV òD$ eH$Vmo.

20) Which of the following is an advantages of a steam power station ?

1) Life and effectiveness of a steam power plant are concise.

2) Cost of power generation is high

3) It takes low initial investment and less time to commission a plant.

4) Coal may get depleted due to gradual use.

21) D$Om© ßbm§Q>À`m Am°naoeZ Xaå`mZ pñWa Agboë`m CËnmXZm~m~V Imbrbn¡H$s H$moUVr AdñWm `mo½` Amho?
1) {Z`‘Zm{edm` AmYma ŷV nwadR>m 2) {Z`‘Zmgh AmYma ŷV nwadR>m
3) ñd §̀M{bV J¡a-Am{W©H$ {Z`‘Z 4) ñd §̀M{bV Am{W©H$ {Z`‘Z

21) Which of the following states is correct regarding the output that is constant during the operation

of a plant ?

1) Base supply without regulation 2) Base supply with regulation

3) Automatic non-economic regulation 4) Automatic economic regulation

22) dmhZ dmhVwH$sgmR>r, XmoZ-boZ nwbmgmR>r añË`mMr {H$‘mZ é§Xr ........ Amdí¶H$ Amho.
1) 425 go‘r 2) 750 go‘r 3) 200 go‘r 4) 300 go‘r

22) For vehicular traffic, minimum roadway width for two-lane bridge is  ................

1) 425 cm 2) 750 cm 3) 200 cm 4) 300 cm

23) IRC Zwgma, J«m‘rU ^mJmV ‘moQ>agm`H$bgmR>r àdmgr H$ma ẁ{ZQ> ........... Amho
1) 0.50 2) 0.75 3) 0.80 4) 1.00

23) As per IRC, the passenger car unit for a motorcycle in rural areas is .........

1) 0.50 2) 0.75 3) 0.80 4) 1.00

24) amoqbJ Q>oaoZ‘YyZ OmUmè¶m amï´>r` ‘hm‘mJmªgmR>r IRC Zo {e’$mag Ho$bobm éqbJ {S>PmB©Z doJ ........... Amho.
1) 120 {H$‘r Vmer 2) 40 {H$‘r Vmer 3) 20 {H$‘r Vmer 4) 80 {H$‘r Vmer

24) The ruling design speed recommended by IRC for National Highways passing through rolling

terrain is ...........

1) 120 kmph 2) 40 kmph 3) 20 kmph 4) 80 kmph
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(9) amOH$s` {d^mJ, àemgH$s` {d^mJ - ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
1) ^maVmÀ`m B©emÝ òH$S>rb amÁ`m§‘Ü ò amhUmè`m ‘§Jmobm°BS> O‘mVr, ZmJm-Hw$H$s `m O‘mVr Amnbm CXa{Zdm©h ........ Ûmao

H$aVmV:
1) ñWbm§V[aV bmJdS> 2) H$m`‘ñdénr eoVr
3) Xw½Yì`dgm` 4) darbn¡H$s H$mhrhr Zmhr

1) The Mongoloid tribes living in the Northeastern States of India, namely Naga-Kuki make their

living by practicing :

1) Shifting cultivation 2) Permanent cultivation

3) Dairy 4) None of the above

(10) _mZdr d gm_m{OH$ ŷJmoc
* cmoH$g§»`m, bmoH$g§»¶oMo ñWmZm§Va d Ë¶mMo CJ‘ d Bï>ñWmZmdarb n[aUm_ , J«m_rU dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d

Ë`m§Mo àíZ

1) ^maVmMo a{OñQ´ma OZab (SRS) À`m Z‘wZm Zm|XUr àUmbr (RGI) ~wbo{Q>ZZwgma, 2019 ‘Ü ò ^maVmV à{V 1,000
{Od§V OÝ‘m§‘mJo ~mb‘¥Ë ỳ Xa (IMR) {H$Vr hmoVm?
1) 81 2) 37 3) 35 4) 30

1) As per the Sample Registration System (SRS) Bulletin of Registrar General of India (RGI), what

was the Infant Mortality Rate (IMR) in India per 1,000 live births in the year 2019 ?

1) 81 2) 37 3) 35 4) 30

2) ¶mo½¶ OmoS>çm Owidm
amÁ¶ bmoH$g§»¶m KZVm Xa Mm¡. {H$. ‘r. (2011)

a. h[a¶mUm i. 123
b. {h‘mMb àXoe ii. 141
c. PmaI§S> iii. 573
d. {~hma iv. 1106
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) ii i iii iv

2) iii i ii iv

3) iii ii iv i

4) i iii ii iv

2) Match the following :

State Population Density per sq. k.m. (2011)

a. Haryana i. 123

b. Himachal Pradesh ii. 414

c. Jharkhand iii. 573

d. Bihar iv. 1106
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Answer Options :

(a) (b) (c) (d)

1) ii i iii iv

2) iii i ii iv

3) iii ii iv i

4) i iii ii iv

3) 2011 À¶m OZJUZoZwgma, ^maVr¶ amÁ¶m§Mm bmoH$g§»¶m eoH$S>m à‘mUmZwgma H$moUVm MT>Vm H«$‘ ¶mo½¶ Amho?
1) n§Om~ - Amgm‘ - N>ÎmrgJT> - h[a¶mUm 2) n§Om~ - N>ÎmrgJT> - Amgm‘ - h[a¶mUm
3) N>ÎmrgJT> - h[a¶mUm - n§Om~ - Amgm‘ 4) h[a¶mUm - N>ÎmrgJT> - n§Om~ - Amgm‘

3) As per 2011 Census, which ascending order of states as per percentage population in India is

correct?

1) Punjab — Assam — Chhattisgarh — Haryana

2) Punjab — Chhattisgarh — Assam — Haryana

3) Chhattisgarh — Haryana — Punjab — Assam

4) Haryana — Chhattisgarh — Punjab — Assam

4) ^maVmVrb H$moUVo eha ^maVr¶ emgZmÀ¶m ñdÀN> H«$‘dmarV gbJ VrZ doim (2019 Vo 2021) ñdÀN> eha åhUyZ
Kmo{fV H$aÊ¶mV Ambo?
1) B§Xmoa 2) nwUo 3) ‘w§~B© 4) gwaV

4) Which city of India has been declared as cleanest city for three consercutive years (2019 to

2021) by Swachh ranking of Government of India ?

1) Indore 20 Pune 3) Mumbai 4) Surat

5) Imcrc {dYmZo {dMmamV ¿¶m :
a) 2011 Mr OZJUZm hr 15 dr amï´>r¶ OZJUZm hmoVr.
b) ¶m OZJUZoV OmVrda AmYm[aV OZJUZog gaH$maZo nadmZJr {Xcr.
n¶m©¶r CÎmao :
1) ’$º$ {dYmZ (a)  ~amo~a Amho 2) ’$º$ {dYmZ (b)   ~amo~a Amhoo
3) (a) Am{U (b) XmoÝhrhr {dYmZo ~amo~a AmhoV. 4) (a) Am{U (b) XmoÝhrhr {dYmZo MyH$ AmhoV.

5) Consider the following statements :

a) The census of 2011 was 15 national census.

b) In this census government approved the caste based census.

Answer options:

1) Only statement (a) is correct. 2) Only statement (b) is correct.

3) Both statements (a) and (b) are correct. 4) Both statements (a) and (b) are incorrect.

6) {dYmZ (I) : ""cmoH$g§»¶oÀ¶m n{hë¶m Q>ßß¶mda OZZXa Am{U ‘¥Ë¶¥Xa ho XmoÝhrhr OmñV AgVmV Ë¶m‘wio H$‘r  A{YH$
à‘mUmV cmoH$g§»¶m Odinmg pñWa AgVo.""
{dYmZ (II) : ""cmoH$g§»¶m g§H«$‘UmÀ¶m {Vgè¶m Q>ßß¶mda OZZXa KQV OmVmo Ë¶m‘wio cmoH$g§»¶m dmT>rMm Xa hm H$‘r AgVmo.""
n¶m©¶r CÎmao :
1) {dYmZ (I) ho A¶mo½¶ Amho 2) {dYmZ (II) ho A¶mo½¶ Amho
3) {dYmZ (I) d (II) ho XmoÝhr A¶mo½¶ AmhoV 4) {dYmZ (I) d (II) ho XmoÝhr ¶mo½¶ AmhoV
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6) Statement (I) : “In the first stage, both birth and death rates are high, hence the population remains

more or less stable.”

Statement (II) : “In the third stage of demographic transition the birth rate decline significantly

and thus the rate of population growth remain low.”

Answer options :

1) Statement (I) is incorrect. 2) Statement (II) is incorrect.

3) Both statements (I) and (II) are incorrect. 4) Both statements (I) and (IT) are correct.

7) ^maVmVrb qbJJwUmoÎma Imbrbn¡H$s EH$m nÕVrZo H$mT>bo OmVo …
1) hOma nwéfm§À¶m VwbZoV {ó¶m§Mo à‘mU 2) hOma {ó¶m§À¶m VwbZoV nwéfm§Mo à‘mU
3) 100 nwéfm§À¶m VwbZoV {ó¶m§Mo à‘mU 4) 100 {ó¶m§À¶m VwbZoV nwéfm§Mo à‘mU

7) Sex Ratio in India is depicted from the following one method :

1) Ratio of female population per thousand male population

2) Rtio of male population per thousand female population

3) Ratio of female population per 100 male population

4) Ratio of male population per 100 female population

8) OZJUZo~m~V Imbrb {dYmZo {dMmamV ¿`m. Ë`mn¡H$s H$moUVo/`mo½` AmhoV?
a) àm‘w»`mZo bmoH$g§»`memór` ‘m{hVr àXmZ H$am
b) bmoH$m§À`m gm‘m{OH$ Am{U Am{W©H$ d¡{eï²>`m§~Ôb H$moUVrhr ‘m{hVr XoD$ ZH$m.
c) Am¡fY, ‘mZdr n`m©daU Am{U gm‘m{OH$ {dkmZ joÌmVrb H¥$Vr Am{U g§emoYZmÀ`m {Z`moOZmgmR>r AmYmaaoIm àXmZ

H$am.
d) OZJUZoÀ`m S>oQ>m{edm`, à‘mU~Õ Amamo½`, bmoH$g§»`memór` Am{U gm‘m{OH$-Am{W©H$ {ZX}eH$ àmá H$aUo eŠ`

Zmhr.
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U c ’$º$ 3) a, b Am{U d ’$º$ 4) a, c Am{U d ’$º$

8 ) Consider the following statements regarding census. Which of them is/are correct ?

a) Primarily provide demographic information

b) Provide no information on social and economic characteristics of people.

c) Provide baseline for planning action and research in the field of medicine, human ecology and

social science.

d) Without census data, it is not possible to obtain quantified health, demographic and socio-

economic indicators.

Answer options :

1) a only 2) a and c only 3) a, b and d only 4) a, c and d only

9) ‘¥Ë ỳÀ`m AmH$S>odmarÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m. Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
a) S>oQ>m Jmoim H$aÊ`mMr EH$g‘mZ Am{U à‘m{UV nÕV Amho.
b) AMyH$VoMm A^md Amho.
c) ho EHy$U ‘¥Ë ẁXamVrb Q|́S> Am{U ’$aH$ ñnï> H$aVo.
d) ‘¥Ë ỳMr AnyU© ‘m{hVr Amho.
n¶m©¶r CÎmao …
1) ’$º$ a 2) a, b Am{U c ’$º$ 3) b Am{U d ’$º$ 4) b, c Am{U d ’$º$
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9) Consider the following statements in regards to mortality data. Which of the following statements

is/are true ?

a) There is uniform and standardised method of collection of data.

b) There is lack of accuracy.

c) It explains trends and differentials in overall mortality.

d) There is incomplete reporting of deaths.

Answer Options :

1) a only 2) a, b and c only 3) b and d only 4) b, c and d only

10) EHy$U àOZZ Xa åhUOo H$m`?
1) órbm OÝ‘boë`m ‘wbtMr gamgar g§»`m
2) Hw$Qw>§~ {Z`moOZ `emMo g§doXZerb gyMH$
3) àOZZj‘ d`moJQ>mVrb à{V hOma {ddm{hV ‘{hbm§À`m {Od§V OÝ‘m§Mr g§»`m
4) nyU© Hw$Qw>§~ AmH$ma

10) What is total fertility rate ?

1) Average number of girls born to a woman

2) Sensitive indicator of family planning achievement

3) Number of live births per thousand married women in reproductive age group

4) completed family size

11) Imcrc {dYmZm§Mm {dMma H$ê$Z Ë¶mVrc H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV Vo g§Ho$Vm§H$m§Mm dmna H$ê$Z
CÎma {chm.
1. H|${ÐV dñVr ~hþYm eoVdmS>çm§Zr doT>cocr AgVo
2. {h‘mc¶rZ àXoemV H|${ÐV dñË¶m AmT>iV ZmhrV.
n¶m©¶r CÎmao …
1) ’$º$ 1 ~amo~a Amho 2) ’$º$ 2 ~amo~a Amho
3) XmoÝhr 1 Am{U 2 ~amo~a AmhoV 4) 1 hr ~amo~a Zmhr d 2 hr ~amo~a Zmhr

11) Consider the following statements and sclect the correct answer using the code given below.

1. A compact settlement is most probably surrounded by hamlets.

2. Compact settlements are not found in the Himalayan region.

Answer Options :

1) Only 1 is correct 2) Only 2 is correct

3) Both 1 and 2 are correct 4) Neither 1 nor 2 is correct

o o o
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(1) _hmamḯ>mMm d ^maVmMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²>̀ o
1-2 2-3 3-2 4-4 5-2 6-4 7-3 8-4 9-2 10-2
11-4 12-1 13-4 14-4

(2) {d{dY ŷéno, nd©V Am{U nR>ma - Q>oH$S>çm, am§Jm, {eIao, KmQ>
1-1 2-3 3-1 4-4 5-1 6-2 7-1 8-1

(3) _w»` àmH¥${VH$ {d^mJ - {h‘mb¶, ‘¡XmZo, {H$ZmanÅ>r, nR>ma, gømÐr, H$moH$U, ~oQ>o
1-4

(4) hdm‘mZemó, nO©Ý`‘mZ d Vmn‘mZ
1-4 2-2 3-2 4-2 5-2 6-4 7-3

(5) nO©Ý`mVrc {d^mJdma ~Xc
1-3 2-1 3-3 4-2 5-2 6-1 7-2 8-3 9-3 10-3
11-3 12-2 13-1 14-2 15-3

(6) ZÚm - YaUo  Am{U qgMZ àH$ën
1-2 2-4 3-1 4-2 5-4 6-3 7-4 8-1 9-1 10-1
11-3 12-4 13-1 14-3 15-4 16-4 17-2 18-1 19-3 20-4
21-4 22-2 23-4 24-4 25-3 26-3 27-1 28-4 29-2 30-4
31-1 32-1 33-4 34-3 35-1 36-4 37-2 38-3 39-4 40-1
41-3 42-2 43-4 44-3 45-1

CÎmao … ‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(1) ^maVmMm d _hmamḯ>mMm ŷJmoc KQ>H$mdarb àíZ
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(7) Z¡g{J©H$ g§nÎmr d eoVr - dZo,  O{‘ZrMo àH$ma, à‘wI {nHo$
1-1 2-1 3-1 4-2 5-2 6-1 7-4 8-2 9-4 10-1
11-1 12-3 13-1 14-1 15-2 16-3 17-3 18-2 19-3 20-2
21-3 22-4 23-1 24-4 25-4 26-2 27-4 28-3 29-1

(8) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo,  dmhVyH$ Am{U n ©̀Q>Z, CÚmoJ, ehao
1-1 2-4 3-4 4-3 5-4 6-3 7-4 8-3 9-1 10-2
11-4 12-3 13-1 14-3 15-4 16-4 17-4 18-2 19-3 20-3
21-1 22-2 23-1 24-4

(9) amOH$s` {d^mJ, àemgH$s` {d^mJ - ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
1-1

(10) _mZdr d gm_m{OH$ ŷJmoc

1-4 2-2 3-4 4-1 5-3 6-4 7-1 8-4 9-4 10-4
11-2


